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Define of costing

The costing terminology of C.I.LM.A., London defines costing as the “the techniquessand
processes of ascertaining costs”. These techniques consist of principles and rules which Verﬁz
procedure of ascertaining cost of products or services. The techniques to be fo
analysis of expenses and the processes by which such an analysis should be rgl? different
products or services differ from industry to industry. These techniques are mic and they
change with time.

Define of Cost Accounting ’ \'.’

Cost Accounting may be defined as “Accounting for c s1ﬁcation and analysis of

expenditure as will enable the total cost of any particular u uctlon to be ascertained with
reasonable degree of accuracy and at the same time to lose exactly how such total cost is

constituted”. Thus, Cost Accounting is classii ,.@cordlng an appropriate allocation of

suitably arranged data for the purpose of centroj @nd guidance of management.

expenditure for the determination of the coits cts or services, and for the presentation of

Cost Accounting can be explained as f S:-

1. Cost Accounting is the proces ounting for cost which begins with recording of income
and expenditure and ends with @a) eparation of statistical data.

2. It is the formal mechani ¥ means of which cost of products or services are ascertained and
controlled. ¢

3. Cost Accoun W}vides analysis and classification of expenditure as will enable the total cost
of any par % |t of product / service to be ascertained with reasonable degree of accuracy and

at th sa@tl

uffi 0 know that the cost of one pen is RS.25/- but the management is also interested to know

e to disclose exactly how such total cost is constituted. For example it is not

dst of material used, the amount of labour and other expenses incurred so as to control and
reduce its cost.
4. It establishes budgets and standard costs and actual cost of operations, processes, departments

or products and the analysis of variances, profitability and social use of funds.




5. Thus Cost Accounting is a quantitative method that collects, classifies, summarises and
interprets information for product costing, operation planning and control and decision making.

Objectives of cost accounting:

There is a relationship among information needs of management, cost accousting
objectives, and techniques and tools used for analysis in cost accounting. Cost accountir@a)s e

following main objectives to serve:

1. Determining selling price C}Q
2. Controlling cost Q

3. Providing information for decision-making

)

4. Ascertaining costing profit %
5. Facilitating preparation of financial and other statements. \Q
1. Determining selling price Q

The objective of determining the cost of products I ain importance in cost accounting.
The total product cost and cost per unit of pr@dﬂa.re)important in deciding selling price of

product Z.,
Cost accounting provides infor@ arding the cost to make and sell product or
f

services. Other factors such as the of product, the condition of the market, the area of
distribution, the quantity which % upplied etc., are also to be given consideration by the
management before deciding t@

Ing price, but the cost of product plays a major role.
2. Controlling cost

as Budgetary C tandard costing, and inventory control. Each item of cost [viz. material,

Cost account?g helps in attaining aim of controlling cost by using various techniques such
labour, and e] is budgeted at the beginning of the period and actual expenses incurred are

red Wit the budget. This increases the efficiency of the enterprise.

thg information for decision-making
% ®Cost accounting helps the management in providing information for managerial decisions
for formulating operative policies. These policies relate to the following matters:
(i) Determination of cost-volume-profit relationship.

(if) Make or buy a component




(iii) Shut down or continue operation at a loss
(iv)Continuing with the existing machinery or replacing them by improved and economical
machines.
4. Ascertaining costing profit
Cost accounting helps in ascertaining the costing profit or loss of any activ@k?v
objective basis by matching cost with the revenue of the activity.
5. Facilitating preparation of financial and other statements g§
Cost accounting helps to produce statements at short intervals as@
Yy

require. The financial statements are prepared generally once a year ot half year'to meet the needs

gement may

of the management. In order to operate the business at high e.fﬁQ 8;? it is essential for
management to have a review of production, sales and operatin

Cost accounting provides daily, weekly or mo Statements of units produced,
accumulated cost with analysis. Cost accounting sy provides immediate information
regarding stock of raw material, semi-finished aﬁd{n.iﬁk;ed goods. This helps in preparation of

financial statements.

Scope of Cost Accounting \< )
t1

ing’ are many times used interchangeably. However,

The terms ‘costing’ and ‘cost a
the scope of cost accounting is b '&am that of costing. Following functional activities are
included in the scope of cost ac@y Ing:
1. Cost book-keeping: °
It involves m'a'%i ing complete record of all costs incurred from their incurrence to their

charge to depar@ products and services. Such recording is preferably done on the basis of

double entr %n
2. Cost s@ :
%ﬁems and procedures are devised for proper accounting for costs.
#CGoSt ascertainment:
Ascertaining cost of products, processes, jobs, services, etc., is the important function of
cost accounting. Cost ascertainment becomes the basis of managerial decision making such as

pricing, planning and control.




4. Cost Analysis:
It involves the process of finding out the causal factors of actual costs varying from the

budgeted costs and fixation of responsibility for cost increases.

5. Cost comparisons:
Cost accounting also includes comparisons between cost from alternative courses(o: aczn

such as use of technology for production, cost of making different products and acti
of same product/ service over a period of time. C}

cost

detailed examination of each cost in the light of benefit derived froN I'n.c?urrence of the cost.

6. Cost Control: %
Cost accounting is the utilisation of cost information for exer;ﬁr;g control. It involves a

Thus, we can state that cost is analysed to know whether the cu vel of costs is satisfactory
in the light of standards set in advance.
7. Cost Reports:

Presentation of cost is the ultimate functiOﬁqg‘CSsgaccounting. These reports are primarily

for use by the management at different levels. C?@ rts form the basis for planning and control,
performance appraisal and managerial d @ aking.

0
Nature of Cost Accounting K

1. Cost accounting is a branch o edge:

Though considered_ as @ ch of financial accounting, cost accounting is one of the
important branch of k “that is a discipline by itself. It is an organised body of knowledge

consisting of its owh{n iples, concepts and conventions. These principles and rules vary from

industry to indu

2. Cost acc IS a science:
C(é%ounting is a science as it is a body of systematic knowledge relating to not only cost
cco but relating to a wide variety of subjects such as law, office practice and procedure,
processing, production and material control, etc.
It is necessary for a cost accountant to have intimate knowledge of all these field of study
in order to carry on his day-to-day activities. But it is to be admitted that it is not a perfect science

as in the case of natural science.




3. Cost accounting is an art:
Cost accounting is an art in the sense it requires the ability and skill on the part of cost
accountant in applying the principles, methods and techniques of cost accountancy to various

management problems. These problems include the ascertainment of cost, control of eg@sts,
ascertainment of profitability, etc. il

4. Cost accounting is a profession:

In recent years cost accounting has become one of the important profﬁ?@hich has

become more challenging. This view is evident from two facts. First, th p of various

professional bodies such as National Association of Accountants (NAA) in US
The Institute of Cost and Management Accountants in UK th&ht.g of Cost and Works

Accountants in India and such other professional bodies bo eveloped and developing

countries have increased the growing awareness of costing prefessi@p among the people. Secondly,

a large number of students have enrolled in these inst to obtain costing certificates and

C) Q.-x

memberships for earning their livelihood.

Advantages of Cost Accounting \
1. Advantages of Cost Accounti anagement

1. Fixation of respo sibi@ henever a cost centre is established, it implies establishing a
kind of relationship b berior and subordinates. Thus, responsibilities are fixed on every
individual who is congerngd with incurrence of cost.

2. Measu conomic performance: By applying cost control techniques such as budgetary
control ano%&@xd costing it helps in knowing the performance of business.

3. (Bixation of price: By providing cost data it helps management to fix the selling price in
dvah¢E=Hence, quotations can be supplied to prospective customers to secure orders.

®4. Aids in decision-making: It helps management in making suitable decisions such as make

or buy, replace manual labour by machines, shut down or continue operations based on cost

reports.




5. Helps in the preparation of interim final accounts: By the process of continuous stock

taking it enables to know the value of closing stock of materials at any time. This facilitates

preparation of final accounts wherever desired.

6. Helps in minimising wastages and losses: Cost accounting system enables to locatg,the
losses relating to materials, idle time and under utilisation of plant and machinery. <

7. Facilitates comparison: It facilitates cost comparison in respect of cess,

departments and also between two periods. This reveals the efficiency or othe ach job,
process or department.

8. Assists in increasing profitability: Costing reports prowde formatl about profitable

or unprofitable areas of operation. The management can disco t|n product line or that
department which are responsible for incurring losses and only Ie line of activities alone
are retained.

9. Reconciliation with financial accounts: A w aintained cost accounting system

facilitates reconciliation with financial account hesg< the arithmetical accuracy of both the
systems.
10. It quides future production ppl@ st data help management in determining future

production policy. Any expansion or c tion of production for the future is based on past cost

. QQ

2. Advantages to Employges

1. Cost accounting.s enables employees to earn better wages through overtime wages

and incentive systems,of Wwage payment.
2. By pro 5@%}tter facilities it ensures job security to employees.

3.Em %es benefit by merit rating techniques which is conducted by scientific process.
ar@% to Creditors
= increases the confidence of creditors in the capital employed in the business.
®2. The frequent preparation of reports and statements help in knowing solvency position of
the business.

4. Advantages to Government




1. It helps government in formulating policies regarding export, import, taxation, price
control measures, wage fixation, etc.

2. It helps in assessing excise duty, sales tax and income tax of the business.

3. Costing information helps in preparing national plans.
5. Advantages to Society

1. Cost reduction and cost control programmes go to minimise cost of produg
and services. A portion of the reduced cost of production is shared bycustomérs

price for goods and services. Q
2. It offers employment opportunities in the cost accounting dgqrtment In the capacity of

cost accountants and cost clerks.

Disadvantages of Cost Accounting \Q

Cost accounting like other branches of accountar% xact science but is art which

has developed through theories and accounting practice on reasoning and common sense.

Many theories can be proved or disproved in the*'gic.)f-?onventions and basic principles of cost

accounting. These Principles are not sat?*\ hanging with the change of time and
circumstances. The following are the maif limitations of cost accounting:

1. Cost accounting lacks a uniform dure: It is possible that two equally competent cost
accountants may arrive at differ ts from the same information. Keeping in view this
limitation, all cost accounting r& can be taken as mere estimates.
2. There are a lar r of conventions, estimates and flexible factors such as
classification of c6s§i its elements, issue of materials on average or standard price,
apportionment %@head expenses, arbitrary allocation of joint costs, division of overheads into
fixed and v costs, division of costs into normal and abnormal and controllable and non-
controllabte and adoption of marginal costs and standard costs due to which it becomes difficult
oh ct costs.

*Moreover, no one cost is suitable for all purposes and under all circumstances. Virtually its
calculation depends on the use to which the data are required to be put to. Because of inclusion of

some items of cost on estimated basis it is difficult to have actual true cost. On this basis when




the valuation of stock is done, that will not be based on true facts and naturally the profit calculated
from the cost records will not be true.

3. For getting the benefits of cost accounting many formalities are to be observed by a small and
medium size concern due to which the establishment and running costs are so much that it beceies
difficult for these concerns to afford its cost. Thus, cost accounting can be used on@%

concerns. Q
4. The contribution of cost accounting for handling futuristic situations has no@ uch. For

example, it has not evolved so far any tool for handling inflationary situatioQ
Cost classification

o
Costs can be classified or grouped according to their omlﬁ\cr:gracteristics. Proper
classification of costs is very important for identifying the costs v cost centers or cost units.
The same costs are classified according to different ways OsLifg depending upon the purpose

to be achieved and requirements of a particular concern. important ways of classification are:

Labour and Expenses. Materials can furth -classified as raw materials components, spare

1. By Nature or Elements: 0
According to this classification the c st@ssified into three categories i.e., Materials,
< be s

parts, consumable stores, packing materigls. etc.

This helps in finding the to of production and the percentage of materials (labour or
other expenses) constituted in t@ al cost. It also helps in valuation of work-in-progress.
2. By Functions: °

This classification s on the basis of costs incurred in various functions of an organization
ie. Production, }&aﬂon, selling and distribution.

Accor %ﬁo this classification, costs are divided into Manufacturing and Production Costs
and Con@%‘al costs.

ufacturing and Production Costs are costs involved in manufacture, construction and
i€ation of products.
Commercial Costs are (a) administration costs (b) selling and distribution costs.

3. By Degree of Traceability to the Product:




According to this, costs are divided indirect costs and indirect costs. Direct Costs are those
costs which are incurred for a particular product and can be identified with a particular cost centre
or cost unit. Eg:- Materials, Labour.

Indirect Costs are those costs which are incurred for the benefit of a number of cost cgr&r

or cost units and cannot be conveniently identified with a particular cost centre or cost <I’llf
Rent of Building, electricity charges, salary of staff etc. Q

4. By Changes in Activity or Volume: g?

According to this costs are classified according to their behavior in@ 0 changes in
the level of activity or volume of production. They are fixed, variable,and semi-variable.

Fixed Costs are those costs which remain fixed in total a o.u%f»ﬁv.?ncrease or decrease
in the volume of the output or productive activity for a given pewu time. Fixed Costs per unit
decreases as production increases and vice versa. Eg:- rent\#asurafce of factory building, factory
manager’s salary etc.

Variable Costs are those costs which vaﬁgqj.iigct proportion to the volume of output.

These costs fluctuate in total but remain c nszt.pe unit as production activity changes. Eg:-
direct material costs, direct labour costs p@ pairs etc.
Semi-variable Costs are thosephich are partly fixed and partly variable. For example;
Depreciation, for two shifts WOI‘@ total depreciation may be only 50% more than that for
h

single shift working. They ay@

ge with comparatively small changes in output but not in the

same proportion.

5. Association with'the Product:
Cost can Ified as product costs and period costs. Product costs are those which are

traceable to Gboduct and included in inventory cost, thus product cost is full factory cost.
o
elli administration costs. These costs are incurred for a period and are treated as expenses.
=By Controllability:

osts are incurred on the basis of time such as rent, salaries etc. thus it includes all

The CIMA defines controllable cost as “a cost which can be influenced by the action of a
specified member of an undertaking” and a non-controllable cost as “a cost which cannot be

influenced by the action of a specified member of an undertaking”.




7. By Normality:

There are normal costs and abnormal costs. Normal costs are the costs which are normally
incurred at a given level of output under normal conditions. Abnormal costs are costs incurred
under abnormal conditions which are not normally incurred in the normal course of produation.

Eg:-damaged goods due to machine break down, extra expenses due to disruption of efectri

inefficiency of workers etc. Q
8. By Relationship with Accounting Period: %
There are capital and revenue expenses depending on the length of t%
nin

Is incurred. The cost which is incurred in purchasing an asset either tp ear

for which it
me or increasing

the earning capacity of the business is called capital cost, for examp.lQo\ ?:ast of a machine in a

factory.
Such cost is incurred at one point of time but the be it;%ruing from it are spread over
a number of accounting years. The cost which is incurr I’ maintaining an asset or running a

business is revenue expenditure. Eg:- cost of mateﬂ'eﬂs.a}?ry and wages paid, depreciation, repairs

and maintenance, selling and distribution. Y.V
9. By Time: Costs can be classified as )Qst)r cal cost and 2) Predetermined Costs.

ecorded after it has been incurred is called historical

costs. They are based on recorde ence they can be verified and are always supported by
evidences. Q)

Predetermined S so known as estimated costs as they are computed in advance of
production taking info consideration the previous periods’ costs and the factors affecting such
costs. Predetermi sts when calculated scientifically become standard costs. Standard costs
are used tc% e budgets and then the actual cost incurred is later-on compared with such

prede err@

Typ thods and Techniques of Costing

cost and the variance is studied for future correction.

*The general fundamental principles of ascertaining costs are the same in every system of
cost accounting, but the methods of analysis and presenting the costs vary from industry to

industry. Different methods are used because business enterprises vary in their nature and in the




type of products or services they produce or render. Basically, there are two principal methods of
costing, namely (i) Job Costing, and (ii) Process costing.
1. Job costing:

It refers to a system of costing in which costs are ascertained in terms of specific j

generally applied are Printing Process, Automobile Garages, Repair Shops, Ship-b
building, Engine and Machine construction, etc. Job Costing includes the foll@

costing %
(a) Contract Costing: Although contract costing does not differ in pg:i;le from job costing, it

IS convenient to treat contract cost accounts separately. The term_is ua* applled to the costing
method adopted where large scale contracts at different S|tes |ed out, as in the case of
building construction.

(b)Bach Costing: This method is also a type of job costin atch of similar products is regarded
as one job and the cost of this complete batch isﬂaﬁrtguqed. It is then used to determine the unit
cost of the articles produced. It should, howe oted that the articles produced should not
lose their identity in manufacturing opera ns.

(c)Terminal Costing: This method a type of job costing. This method emphasizes the
essential nature of job costing, ie, '&:an be properly terminated at some point and related to
a particular job.

(d)Operation Costingadh hod is adopted when it is desired to ascertain the cost of carrying

necessary to as e cost of various operatlons

out an operation in'g department, for example, welding. For large undertaking, it is frequently
2. Process
% product passes through distinct stages or processes, the output of one
Proc mg the input of the subsequent process, it is frequently desired to ascertain the cost of
Stage or process of production. This is known as process costing.
This method is used where it is difficult to trace the item of prime cost to a particular order

because its identity is lost in volume of continuous production. Process costing is generally adopted




in textile industries, chemical industries, oil refineries, soap manufacturing, paper manufacturing,
tanneries, etc.
3. Unit or single or output or single output costing:

This method is used where a single article is produced or service is rendered by continegus
manufacturing activity. The cost of the whole production cycle is ascertained as a procesg or sefies
of processes and the cost per unit is arrived at by dividing the total cost by the n nits
produced. The unit of costing is chosen according to the nature of the product. §

Cost statements or cost sheets are prepared under which various % e

classified and the total expenditure is divided by total quantity produ;{iﬂn order to arrive at unit

Xpenses are
[ ]
cost of production. This method is suitable in industries like bric -m& ,'c%llieries, flour mills,

cement manufacturing, etc. this method is useful for the as department in a factory

producing a mechanical article eg. Bicycle. °
4. Operating Costing:

This method is applicable where service&aﬂr:ezngiered rather than goods produced. The
procedure is same as in the case of single outp tng. The total expenses of the operation are
divided by the units and cost per unit éﬁgis arrived at. This method is employed in
Railways, Road Transport, Water sup ertakings, Telephone services, Electricity companies,
Hospital services, Municipal servi
5. Multiple or Complete ost@y

Some products plex that no single system of costing is applicable. It is used where

there are a variety of components separately produced and subsequently assembled in a complex
%@ascertained by computing component costs which are collected by job or

production. Tot
process cos% then aggregating the costs through use of the single or output costing system.

This et@l applicable to manufacturing concerns producing Motor Cars, Aeroplanes, Machine
00ls} -writers, Radios, Cycles, Sewing Machines, etc.
=Wniform Costing:
It is not a distinct method of costing by itself. It is the name given to a common system of
costing followed by a number of firms in the same industry. This helps in comparing performance

of one firm with that of another.




7. Departmental Costing:
When costs are ascertained department by department, the method is called “Departmental
Costing”. Usually, for ascertaining the cost of various goods or services produced by the

department, the total costs will have to be analysed, say, by the use of job costing or unit co

cost control and policy making:

a) Standard or Predetermined Costs.
b) Marginal Costs

Elements of Cost

The management of an organization needs necessary dat \%Iyze and classify costs for
proper control and for taking decisions for future course of aation, Wence the total cost is analyzed

by elements of costs that is by the nature of expenses. Th ents of costs are three and they are

materials, labour and other expenses. These can Wtbq analyzed as follows.

1

/
/
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"
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By grouping the above elements of cost, the following divisions of cost are obtained.

Formula

1. Prime cost =Direct Materials + Direct Labour+ Direct Expenses

2. Works or Factory Cost ~ =Prime Cost + Works or Factory Overheads
3. Cost of Production =Works Cost + Administration Overheads < E'

PN

4. Total Cost or Cost of Sales=Cost of Production + Selling and Distribution over@

1. Direct Materials are those materials which can be identified in the pr% d can be
conveniently measured and directly charged to the product. For example, b%l ouses, wood
in furniture etc.

Hence all raw materials, materials purchased specifically or.a%o'r.e)rocess like glue for
book making, parts or components purchased or produced like es for radios and tyres for
cycles, and primary packing materials are direct materials.

2. Indirect Materials are those materials which cannot b sified as direct materials. Examples

are consumables like cotton waste, lubricants, bv&in.s”rags, cleaning materials, materials for

repairs and maintenance of fixed assets, hi s?&;ii sel used in power generators etc.
3. Direct Labour is all labour expendedinaltering the construction, composition, confirmation or

condition of the product. Thus direc'@s@eans the wages of labour which can be conveniently

identified or attributed wholly toQ cular job, product or process or expended in converting
raw materials into finishe goo@
Thus payment oups of labourers engaged in actual production, or carrying out of
an operation or ro't:ﬁ supervision, maintenance, tools setting, transportation of materials,
&

inspection, anal Is direct labour.

4. Direct E s are expenses directly identified to a particular cost centre. Hence expenses
incurred @a articular product, job, department etc are direct expenses.

@!mple royalty, excise duty, hire charges of a specific plant and equipment, cost of any
%rhnental Work carried out especially for a particular job, travelling expenses incurred in

connection with a particular contract or job etc.




5. Overheads may be defined as the aggregate of the cost of indirect materials, indirect labour and
such other expenses including services as cannot conveniently be charged direct to specific cost
units.

Overheads may be sub-divided into (i) Manufacturing Overheads; (ii) Administ
Overheads; (iii) Selling Overheads; (iv) Distribution Overheads; (v) Research and De\@’%r?

Overheads.

Explain the Terms C}Q
1. Cost units 2. Cost centre 3.Profit centr&

1. Cost units

The Chartered Institute of Management Accountants, Lo don&ne.s’a unit of cost as “a

unit of quantity of product, service or time in relation to WQQ ts may be ascertained or

expressed”.
The forms of measurement used as cost units are us the units of physical measurements
like number, weight, area, length, value, time etc

Following are some examples of cost unit.

Industry/product

Automobile
Brick works Q’&er 1000 bricks

Cement Q) per Tonne

Chemicals ° Litre, gallon, kilogram, ton
Steel Tonne

Sugar \Q\ Tonne
Transport ‘b Passenger-kilometre, tonne kilometer
2. Cost %

ording to Chartered Institute of Management Accountants, London, cost centre means

cation, person or item of equipment (or group of these) for which costs may be ascertained

and used for the purpose of cost control”. Cost centre is the smallest organizational sub-unit for
which separate cost collection is attempted. Thus cost centre refers to one of the convenient unit

into which the whole factory organization has been appropriately divided for costing purposes.




Each such unit consists of a department or a sub-department or item of equipment or, machinery
or a person or a group of persons.

For example, although an assembly department may be supervised by one foreman, it may
contain several assembly lines. Some times each assembly line is regarded as a separate cost centre
with its own assistant foreman. %

The selection of suitable cost centres or cost units for which costs are to be ed in
an undertaking depends upon a number of factors which are listed as follows. C}

1. Organization of the factory Q

2. Conditions of incidence of cost

3. Requirements of the costing system ie. Suitability of the units or ceng Tor COSt purposes.
4. Availability of information

5. Management policy regarding making a particular c%&eral alternatives.

3. Profit centre
A profit centre is that segment of activity Oﬁﬁl ness which is responsible for both revenue

and expenses and discloses the profit of a p rti?;e ment of activity. Profit centres are created
to delegate responsibility to individuals r@p re their performance.
Illustration 1: K

Find the Prime Cost, Wo@ st, Cost of production, total Cost and profit from the

following:-
Direct Materials ? Direct Labour Rs. 10000; Factory Expenses Rs.
7000; Administration Expenses Rs. 5000; Selling Expenses Rs. 7000 and Sales Rs.60,000.
Answer: \Q
Prime Cost )\l Materials + Direct Labour = Rs.20,000 + Rs.10,000 = Rs.30,000.
Wor C@Q—Prlme Cost + Factory Expenses = Rs.30,000 + Rs.7,000 = Rs.37,000.
Cos duction = Works Cost + Administration Expenses=Rs.37000+Rs.5, 000

; 000.
Total Cost or Cost of sales= Cost of Production + Selling Expenses = Rs.42, 000+ Rs.7, 000 =
Rs.49, 000.

Profit = Sales-Total Cost = Rs.60,000-Rs.49,000=Rs.11, 000.




Cost sheet or Statement of Cost:

When costing information is set out in the form of a statement, it is called “Cost Sheet”. It
is usually adopted when there is only one main product and all costs almost are incurred for that
product only. The information incorporated in a cost sheet would depend upon the requireme%);

management for the purpose of control. <
Specimen of Cost Sheet or Statement of Cost

Particulars Total Cost nit Rs.

Direct Materials

Direct Labour

Direct or Chargeable Expenses

Prime cost
Add: Works Overheads
Works Cost
Add: Administration Overheads

Cost of Productidn\_) ~
Add: Selling and Distribution Ove

Total Cost or (@\f'sales

ol

Illustration 2: \J
]

Calculate Pri tY)Factory Cost, Cost of Production, Cost of Sales and profit from

the following parti G@s.
Particulars \‘\y Rs. Particulars Rs.
Directl}@ ials 1,00,000 | Consumable stores

C Dikt Wages 30,000 | Manager’s Salary

ages of Foreman 2,500 | Directors’ fees

Electric power 500 | Office Stationery

Lighting: Factory 1,500 | Telephone Charges




Office 500 | Postage and Telegrams

Storekeeper’s wages 1,000 | Salesmen’s salary

Oil and water 500 | Travelling expenses
Rent: Factory 5,000 | Advertising
Office 2,500 | Warehouse charge

Repairs and Renewals: 3,500 | Sales

Factory plant

Transfer to Reserves 1,000 | Carriage outward

Discount on shares written off 500 | Dividend

Depreciation: Factory Plant 500

Office Premises 1,250

N

Answers: \
Stateme@)} and Profit
)

{

Particula&\ Rs.
o

Direct Materials 1,00,000
Direct Wages 30,000
1,30,000 1,30,000

Add: Factory,Ove
Wages of A}ﬂ 2,500
Electris 500
Stox&?\ﬁer’s Wage 1,000

1L arfd Water 500

%3:/ rent 5,000

Repairs and renewals-Factory Plant 3,500

Factory lighting 1,500




Depreciation-Factory Plant

Consumable stores

Factory Cost (1,30,000+17,500)
Add: Administration Overheads:
Office Rent
Repairs and Renewals -Office Premises
Office lighting

Depreciation : Office Premises

Manager’s Salary

Director’s fees N g\\ ° 2

Office Stationery N

Telephone charges \.'3
Postage and telegrams (\ ) 11,875

Cost of production(847,300+11,875) 1,59,375
Add: Selling and Distributior@ﬁeﬂds:
Carriage Outward PQ"
Salesmen’s Salaries \
Travelling Expen@ -
Advertlsmg\(‘\\

Warehou?@g 3,875
Cost of Sales (1,59,375+3,875) 1,63,250

Profit 26,250
Sales 1,89,500

Meaning of cost

The term ‘cost’” means the amount of expenses [actual or notional] incurred on or

attributable to specified thing or activity.




As per Institute of cost and work accounts (ICWA) India, Cost is ‘measurement in monetary
terms of the amount of resources used for the purpose of production of goods or rendering services.

To get the results we make efforts. Efforts constitute cost of getting the results. It can be
expressed in terms of money; it means the amount of expenses incurred on or attributable to e
specific thing or activity. %

The term cost is used in this very form. In reference to production/manufac oods
and services cost refers to sum total of the value of resources used like raw n‘@ d labour
and expenses incurred in producing or manufacturing of given quantity. Q

Elements of cost

Cost of production/manufacturing consists of variou \xb&ses incurred on
production/manufacturing of goods or services. These are the nts of cost which can be

divided into three groups : Material, Labour and Expens °

—F 1

Elements of Cost

[ I
I e o=

Selling
Administration & Distribution
Overheads Overheads

¢ ial
To produce or manufacture material is required. For example to manufacture shirts cloth is

Rights reserved by Proi. Bnagyasivee Kulkarm:

required and to produce flour wheat is required. All material which becomes an integral part of
finished product and which can be conveniently assigned to specific physical unit is termed as

“Direct Material”.




It is also described as raw material, process material, prime material, production material,
stores material, etc. The substance from which the product is made is known as material. It may
be in a raw or manufactured state. Material is classified into two categories:

1. Direct Material
2. Indirect Material C)v
1. Direct Material

Direct Material is that material which can be easily identified and reldte specific

product, job, and process. Timber is a raw material for making furnita% for making

garments, sugarcane for making sugar, and Gold/silver for makirwwell ry, etc are some
° ..’

examples of direct material.

2. Indirect Material \Q

Indirect Material is that material which cannot %, conveniently identified and

related with a particular product, job, process, and acti onsumable stores, oil and waste,

printing and stationery etc, are some examples of+ dirgeg material. Indirect materials are used in
the factory, the office, or the selling and disirib | partment.

2. Labour

Labour is the main factor of proguctign. For conversion of raw material into finished goods,
human resource is needed, and su an resource is termed as labour. Labour cost is the main
element of cost in a product or @ e. Labour can be classified into two categories:

1. Direct Labou °

2. Indirect laBour
>

1. Direct L ®
L %Nhich takes active and direct part in the production of a commaodity. Direct labour

is th ur which can be easily identified and related with specific product, job, process, and
ify. Direct labour cost is easily traceable to specific products. Direct labour costs are specially

and conveniently traceable to specific products. Direct labour varies directly with the volume of

output.




Direct labour is also known as process labour, productive labour, operating labour, direct
wages, manufacturing wages, etc. Cost of wages paid to carpenter for making furniture, cost of a
tailor in producing readymade garments, cost of washer in dry cleaning unit are some examples of
direct labour.

2. Indirect labour @v

Indirect labour is that labour which can not be easily identified and relate cific
product, job, process, and activity. It includes all labour not directly engaged @ ting raw
material into finished product. It may or may not vary directly with the vola%

| t

Labour employed for the purpose of carrying out tasks incidental to goods or services

tput.

: . : . : ° M) :
provided is indirect labour. Indirect labour is used in the factory, th& ce, or the selling and
distribution department. Wages of store-keepers, time-keepers, s works manager, salary of
salesmen, etc, are all examples of indirect labour cost. °

3. Expenses

All cost incurred in the production of finisked 909ds other than material cost and labour
cost are termed as expenses. Expenses are c{as jed into two categories:

1. Direct expenses, and
2. Indirect expenses (An item of; heads)
1. Direct expenses
These are expenses hi@@directly, easily, and wholly allocated to specific cost center

or cost units. All diregt.c ther than direct material and direct labour are termed as direct

expenses. \
Direct e@ are also termed as chargeable expenses. Some examples of the direct
S

expenses ar pecial machinery, cost of special designs, moulds or patterns, feed paid to
archi ct@r eyors and other consultants, inward carriage and freight charges on special material,
Cos ents and royalties.
*Mmdirect expenses (An item of overheads)
These expenses cannot be directly, easily, and wholly allocated to specific cost center or
cost units. All indirect costs other than indirect material and indirect labour are termed as indirect

expenses. Thus,




Indirect Expenses = Indirect cost — Indirect material — Indirect labour,

Indirect expenses are treated as part of overheads. Rent, rates and taxes of building, repair,

insurance and depreciation on fixed assets, etc, are some examples of indirect expenses.

Overhead: Meaning
The term overhead has a wider meaning than the term indirect expenses.Overhea‘s incl@e

the cost of indirect material, indirect labour and indirect expenses. This is the ag m of
indirect material, indirect labour and indirect expenses. S

Overhead = Indirect material + Indirect labour + Indirect expenses

Overheads are classified into following three categories: -
o
[ ]

1. Factory/works/ production overheads \
2. Office and administrative overheads \Q
3. Selling and distribution overheads &
1. Factory/works/ production overheads
All indirect costs incurred in the factory for*p%jfyegion of goods is termed as factory/works

the factory or plant. These include indirect

Incurred in the factory. Some examples are as

overheads. Such costs are concerned with the.ru
;é es

material, indirect labour and indirect e&ns

follows:
Indirect materials:

(i) Grease, oil, lubricants, otto@aste etc.
(if) Small tools, brush eping, sundry supplies etc.
(iii) Cost of threads, gum, Wails, etc.

(iv) Consumabl

(v) Factory %49 and stationery
=

Indiect :
) %ﬁf factory manager, foremen, supervisors, clerks etc.

alary of storekeeper
(iii) Salary and fee of factory directors and technical directors
(iv) Contribution to ESI, PF., Leave pay etc. of factory employee.

Indirect expenses:




(i) Rent of factory buildings and land
(i1) Insurance of factory building, plant, and machinery
(i11) Municipal taxes of factory building

(iv) Depreciation of factory building, plant and machinery, and their repairs and mainter§:§

charges C)
(v) Power and fuel used in factory
(vi) Factory telephone expenses. C}Q
2. Office and administrative overheads %
These expenses are related to the management and administratig:c the business. They are

incurred for the direction and control of an undertaking. These re res& é?ggregate of the cost
of indirect material, indirect labour, and indirect expenses incurr e office and administration
department of an organisation. Some examples are as follows;

Office printing and stationery, Cost of brushes, du etc. for cleaning office building and

equipments, Postage and stamps. Salary of offic nager, clerks, and other employees, Salary of
administrative directors, Salaries of legal advg

alaries of cost accountants and financial
accountants, Salary of computer operatok Rent; insurance, rates and taxes of office building,
Office lighting, heating and cleaning ;@ciation and repair of office building, furniture, and
Equipment etc., Legal charges, B rges, Trade subscriptions, Telephone charges, Audit fee
etc. Q

3. Selling and distribui theads
Selling and aitxrjb ion overheads are incurred for the marketing of a commaodity, for

securing order @
customers. ‘b

Tf@ expenses represent the aggregate of indirect material, indirect labour, and indirect

rticles, dispatching goods sold or for making efforts to find and retain

Xpe mcurred by the selling and distribution department of the organisation. These overheads
fivo aspects (i) procuring orders (ii) executing the order. Based upon this concept the selling
and distributions are studied separately.

I. Selling overheads




Indirect costs incurred in relation to the procurement of sale orders are termed as selling
overheads. Some of the examples of selling overheads are as follows:

Indirect material

(i) Catalogues, price list
(i1) Printing and stationery
(iii) Postage and stamps
(iv) cost of sample

Indirect wages

(1) Salaries of sales managers, clerks and other employees

.'5

(i1) Salaries and commission of salesmen and technical represent t|v
(iii) Fees of sales directors

Indirect expenses Q
(i) Advertising

(i1) Bad debts

(iii) Rent and insurance of showroom Yy
(iv) Legal charges incurred for recoveryofdeb

(v) Travelling and entertainment expe x\
(vi) Expenses of sending samplesd&g

(vii) Market research expe ses()

I1. Distribution over

Indirect costs incurred in relation to the execution of the sales order is termed as distribution

overheads. Somy%‘rQ\e examples of distribution
overheads @ lows:

packing material
it, grease, spare parts etc. for maintaining delivery vans

Indirect wages

(i) Salaries of godown employees

(if) Wages of drivers of delivery vans




(iii) Wages of packers and dispatch staff.

Indirect expenses

(i) Packing expenses

(i) Godown rent, insurance, depreciation, and repair etc.

(i) Freight carriage outwards and other transport charges .

(iv) Running expenses of delivery vans, repair, and depreciation.

(v) Insurance in transit etc.

)

Classification of Cost

\é\\

Costs are classified into following categories: & Q

1.Cost behavior basis Y
(a) Fixed Cost

\. '3
(b) Variable cost C)Y»

(c) Semi-variable cos\
2.Cost inventory,@
(a) Product

(b) Perigd cos

3.Co lation to Cost Centre basis
A jrect and
CS‘ Indirect costs

1. Cost t@or basis
a

) ost

®A cost that remains constant within a given period of time and range of activity in spite of
fluctuations in production. Per unit fixed cost varies with the change in the volume of production.

If the production increases, fixed cost per unit decreases and as there is decrease in production, the




fixed cost per unit increases. Rent and insurance of building, depreciation on plant and machinery,
salary of employees etc., are some examples of fixed costs.
(b) Variable cost

Variable costs are those cost which vary directly in proportion to change in volume,_of
production/output. The cost which increases or decreases in the same proportion in whiclthe uRits
produced is termed as variable cost. Direct material, direct labour, direct exp able
overheads are some examples of variable cost. C?

(c) Semi-variable cost
A cost contains both fixed and variable component and which is thus partly affected by
o
fluctuations in the level of activity. Semi-variable costs is that v;{st%'

fC.R some part remains
fixed at the given level of production and other part varies change in the volume of
production but not in the same proportion of change in pro t&
For example, expenses may not change if output i 050% capacity but may increase by
5% for every 20% increase in output over 50% bm%a@%. For example, Telephone expenses
of which rent portion is fixed and call charges 1able.
Segregation of semi-variable cost é)
Semi-variable costs are segregated%ato fixed and variable cost by using the following

formula :

Semi-variable cost= Fixgd cc@%&riable cost

Variable cost per un e in cost/change in output

2. Costs by invent&r&P\mduct cost and period cost

Product \@e those cost which are charged and identified with the product and included
in stock val&.‘bother words, the costs that are the cost of manufacturing a product are called
product @t. Product cost includes direct material, direct labour, direct expenses, and
ma&ﬂring overheads. Period costs are those costs which are not charged to products but are

eh off as expenses against revenue of the period during which these are incurred.

They are not transferred as a part of value of stock to the next accounting year. They are

charged against the revenue of the relevant period. Period costs include all fixed costs and total

administration, selling and distribution costs.




3. Cost Relation to Cost Centre : Direct and Indirect costs

All costs are subdivided into direct and indirect costs. The concept of direct and indirect
cost is of basic importance in costing. Costs which are easily and directly allocated to products or
units are termed as direct cost. Direct costs include all traceable costs. In the process,of

manufacturing of a product, materials are purchased, wages are paid to labour, and cer‘ain other

expenses are also incurred directly.

All these expenses are called as direct costs. The expenses incurred on @s which
are not directly charged to a single product because they are incurred for ma@ ts are termed
as indirect Costs. The example of indirect costs are Oil and scrap mgi'izs, [indirect materials],

o
salary of factory supervisors [indirect labour], rent rates and epre';k' 'h.}indirect expenses].

Indirect costs, often referred to as overheads have to be apposii to different products on

suitable criterion/criteria. °
Meaning of Cost Sheet:

Cost sheet is a statement, which shows variQus go;nponents of total cost of a product. It
classifies and analyses the components of Cfst §>

rpduct. Previous periods data is given in the
cost sheet for comparative study.

It is a statement which shows nit cost in addition to Total Cost. Selling price is
ascertained with the help of cost s e details of total cost
presented in the form of a atel@ s termed as Cost sheet. Cost sheet is prepared on the basis of:
1. Historical Cost  2.Esti Cost
1. Historical Cost °

Historica Xeet is prepared on the basis of actual cost incurred. A statement of cost
prepared aft%o%urring the actual cost is called Historical Cost Sheet.

2. Es 'm@

fmated cost sheet is prepared on the basis of estimated cost. The statement prepared

st

& the commencement of production is called estimated cost sheet. Such cost sheet is useful
in quoting the tender price of a job or a contract.

Importance of Cost Sheet

The importance of cost sheet is as follows:




1. Cost ascertainment
The main objective of the cost sheet is to ascertain the cost of a product. Cost sheet helps in
ascertainment of cost for the purpose of determining cost after they are incurred. It also helps to
ascertain the actual cost or estimated cost of a Job.
2. Fixation of selling price @v
To fix the selling price of a product or service, it is essential to prepare thg/CoS et. It
helps in fixing selling price of a product or service by providing detailed infor tihe cost.

3. Help in cost control %
For controlling the cost of a product it is necessary for every manufacturing unit to prepare

[ ]
a cost sheet. Estimated cost sheet helps in the control of material cosM\ ?cost and overheads

cost at every point of production. \Q

[}
4. Facilitates managerial decisions @

It helps in taking important decisions by ma.msgement such as: whether to produce or
buy a component, what prices of goods are fo w in the tender, whether to retain or replace

an existing machine etc.
Components of Total Cost \

The Components of cost a n in the classified and analytical form in the cost sheet.
Components of total cost are a@vs:
1. Prime Cost °

It consists of direct'material, direct wages and direct expenses. In other words “Prime cost
represents the a @

of cost of material consumed, productive wages, and direct expenses”. It

is also know sic, first, flat or direct cost of a product.

Prime @t = Direct material + Direct Wages + Direct expenses

ct material means cost of raw material used or consumed in production. It is not

Sary that all the material purchased in a particular period is used in production. There is some

stock of raw material in balance at opening and closing of the period.

Hence, it is necessary that the cost of opening and closing stock of material is adjusted in

the material purchased. Opening stock of material is added and closing stock of raw material is




deducted in the material purchased and we get material consumed or used in production of a

product. It is calculated as:

Material Consumed = Material purchased + Opening stock of material-

Closing stock of material.

Illustration 3:
Calculate prime cost from the following particulars for production unit:
Particulars Rs.
Cost of material purchased 30,000
Opening stock of material 6,000
Closing stock of material 4,000
Wages paid 3,000

Rent of hire of a special machine for production 5,00

Answer: Statement showing Prime Cost

Particulars \ Amount Amount
C ; ) (Rs.) (Rs.)

Direct Material: Material Consumed

Opening stock of material 6,000
Add : Material Purchas 30,000
Material available for c 36,000

Less : Closing st materlal 4,000
Material cons \
Direct Labo g&
Direct gpehses Rent of hire a special machine

& Prime cost
2.;

[
actory Cost
In addition to prime cost it includes works or factory overheads. Factory
Overheads consist of cost of indirect material, indirect wages, and indirect expenses incurred in

the factory. Factory cost is also known as works cost, production or manufacturing cost.




Factory Cost = Prime cost + Factory overheads

Illustration 4: Calculate factory cost from the following particulars:

Material consumed
Productive wages

Direct Expenses
Consumable stores

Oil grease/Lubricating
Salary of a factory manager
Unproductive wages
Factory rent

Repair and Depreciation on Machine

Rs.60,000
20,000
5,000
2,000

500

6,00&
KN

Answer:

Statement showing Factory cost

>.ﬂ

Particulars

Q.ﬂ

Amount
(Rs.)

Amount
(Rs.)

/\
Direct Material: Material Consumedk\ )

) 4

60,000

Direct Labour: Productive wa@@

20,000

Direct Expenses N\'

5,000

A \ Prime cost

Add:Factor%&eads
atefial:

Indirec :
%r mable stores
I

grease/lubricants
jndirect Labour:

Unproductive wages

Salary of a factory Manager




Indirect Expenses:

Factory rent

Repair and Depreciation on Machine 2,600

Factory cost 97,100 v

Adjustment for stock of work-in-progress Q
In the process of production, some units remain to be completed at the enth,of a period.

These incomplete units are known as work-in-progress. Normally, the co%incomplete units

include direct material, direct Labour, direct expenses, and average factory overheads. Hence, at
the time of computing factory cost, it is necessary to make adjustme %enmg and closing stock
of work in progress to arrive at the net Factory cost/works cost

Illustration 3: From the following information calculate s cost.

Particulars Rs.
Direct material 80,000

Direct Labour 22,000 : Yy

Direct Expenses 5,000 \
Factory overheads 12,000
Work-in-progress: Opening sto 3,000 Closing stock 7,000

Answer: Sta@@wowing Factory cost
o

%N'culars Amount

m : (Rs.)
Direct Matep&ﬁkterlal Consumed 80,000
@Bour Productive wages 22,000

‘B/rect Expenses 5,000

Prime cost 1,07,000

Factory overheads 12,000




Factory Cost (Gross) 1,19,000

Add: Opening stock of work-in-progress 13,000

1,32,000

Less: Closing stock of work-in-progress 7,000

Works or Factory cost (Net) 1,25,000
Total Cost and Cost Sheet

If office and administrative overheads are added to factory or works costC?
total cost of production is arrived at. Hence the total cost of production is ca@te as

5 NI

Total Cost of production = Factory Cost + office and administratio b@heads

Illustration 4: From the foIIowmg information calculate RI cost of production.
Particulars
Direct material 90,000

Direct Labour 32,000 Y’r
Direct Expenses 9,000 \( )

Factory overheads 25,000

Office and administration over 18,000

Answer: ten@ showing total cost of production

iculars Amount (Rs.)
Direct Material; MaNgalY:onsumed 90,000
Direct Labour tive wages 32,000
QA v

Direct Expehsés” 9,000
Prime cost 1,31,000

aFactowy overheads 25,000
LOJ Factory Cost 1,56,000
Office and administration overheads 18,000
Total Cost Of Production 1,74,000
Cost of goods sold




It is not necessary, that all the goods produced in a period are sold in the
same period. There is stock of finished goods in the opening and at the end of the period. The cost

of opening stock of finished goods is added in the total cost of production in the current period and

cost of closing stock of finished goods is deducted. The cost of goods sold is calculated as:
Cost of goods sold = Total cost of production + Opening stock of < E'

Finished goods — Closing stock of finished goods Q
Illustration 5: From the following information calculate the cost of goods s@ld.

Particulars Rs. Q
Total Cost of Production 1,22,000

Opening stock of finished goods 12,000 %,'}
Closing stock of finished goods 16,000 \Q
Solution: o

Cost of goods sold = Cost of Production + Openin ck of Finished

goods - closing stoc FiQished goods
Cost of goods sold = Rs.1,22,000 + 6000 = Rs.1,18,000

1 ,o%
Total Cost that is Cost of Sales

If selling and distribution over re added to the total cost of production, total cost is

arrived at. This cost is also terme t of Sales. Hence the total cost is calculated as:
Total Cost = Cost of Googds s@ elling and distribution overheads
Illustration 6:From t% Ing information calculate the total cost.
Rs.
Direct materia \Q 1,60,000
Direct Lab fb 52,000

Dire E@nses 19,000
F; act erheads 45,000

Particulars

& and administration overheads 28,000
Selling and distribution overheads 33,000

Answer:




Particulars Amount
(Rs.)
Direct material 1,60,000
Direct Labour 52,000
Direct Expenses 19,000

Prime cost

Factory overheads

Factory Cost

Office and administration overheads \
o
Total Cost Of Production

~3,04,000
33,000

Selling and distribution overheads

Sales

AR
)4
Total cost = cost of sales A &\ ° 2’ 3,37,000

If the profit margin is added to the total co?l,\ileghre arrived at. Excess of sales over total
cost is termed as profit. When total cost e>}peed

s,lit is termed as Loss.

Sales = Total Ggst#+ Profit

Sometimes profit is calculate asis of given information in percentage of cost or

sales. In such a situation, the am 1I8"assumed 100 in which the percentage is calculated. Then
the Profit is calculated in the foNewing ways:
Case 1 ’

If Cost is Q@@O and profit on cost 10%. Assume the cost is Rs.100 and profit on cost is
Rs.10. Hence Pr&L cost of Rs.10,000 is

@4 10,000 x 10/100 = Rs.1,000
&%Ies value is Rs 11000 (10,000 + 1000)
X
If Cost is Rs.10,800 and profit on sales price is 10%. Assume sales price is Rs.100. cost

price is Rs.90 [i.e. Rs.100 — Rs.10]. When profit on cost of Rs.90 is Rs.10. Hence profit on cost of
Rs.10,800 is




10,800 x 10/90 = Rs.1,200
10,800 + 1200 = 12,000 sales value

Case 3
If sales price is Rs.12,100 and profit on cost is 10%. Assume Cost price < El
Is Rs.100. Sales price is Rs.110 [i.e.100 + 10]. If sales price is Rs.110, profit Q
Is Rs.10. Profit on sales price of Rs.12,100 is 6
12,100 x 10/110 = Rs.1,100 profit ;
o%."
Illustration 7: From the following information, calculate the f goods sold.

Particulars Rs.
Total Cost of Production 1,45,0

Opening stock of finished goods 22‘(190
Closing stock of finished goods \,000

Selling and distribution overheads \ 25,000

Profit @ 22,000

Answer: Sta e@nowiniz Sales

Particulars Amount

)
D
X
Total Cost o\mction 1,45,000

Add: O stock of finished goods 22,000
é 1,67,000
A

s® Closing stock of finished goods 6,000
Cost of Goods sold 1,61,000

Selling and distribution overheads 25,000
Total Cost 1,86,000







UNIT-2 < E’
Material cost 9
Material is any substance (Physics term) that forms part of or compn@? finished
r

product. i.e material refers to the commodities supplied to an undertaki@
consumption in the process of manufacturing or of rendering servicg or for transformation into

o
products. The term ‘Stores’ is often used synonymously with ma e& Tlowever, stores has a

e purpose of

wider meaning and it covers not only raw materials consumed plized in production but also
such other items as sundry supplies, maintenance stores, faljicateyparts, components, tools, jigs,
other items, consumables, lubricants......etc.

Finished and partly finished products a so, often included under the term ‘Stores’.

s'and finished goods and scrap also.

Materials are also known as Inventory. The aterials / Inventory covers not only raw
re

materials but also components, work-in
Material cost is the significant K&@nt of the total cost of any product. It constitutes 40%

to 80% of the total cost. The tages may differ from industry to industry. But for

manufacturing sector the ate@l)costs are of greatest significance. Inventory also constitutes a

Apital. So it is treated as equivalent to cash. Therefore the analysis

vital element in the W
and control on Mate'erC t is very important.
Materials:-
The f@als are a major part of the total cost of producing a product and are one of the
most i ;@% assets in majority of the business enterprises. Hence the total cost of a product can
ec ed and reduced by efficiently using materials.
%Materials are of two types, namely:

(i) Direct materials: The materials which can be easily identified and attributable to the individual

units being manufactured are known as direct materials. These materials also form part of finished

products. All costs which are incurred to obtain direct materials are known as direct material costs.




(i) Indirect materials: Indirect materials, on the other hand, are those materials which are of small

value such as nuts, pins, screws, etc. and do not physically form part of the finished product. Costs
associated with indirect materials are known as indirect material costs.
Purchasing Control and Procedure:

Purchasing is an art. Wrong purchases increase the cost of materials, store equip(ent&?
the finished goods. Hence it is imperative that purchases should be Q

effectively, efficiently and economically performed. Q
Dr. Walters defines scientific purchasing as the “Procurement by @

materials, machinery, equipment and supplies of stores used in the manufacture of a product,

adapted to marketing in the proper quantity and quality at the p Q&\ 8 and the lowest price

of the proper

consistent with the
quality desired”.

According to Alford and Beatty, “Purchasing 1 procuring of materials, supplies,
machines tools and services required for th U|pm)ent maintenance and operation of a
manufacturing plant”.

The major objectives of scientifi @@ZE; it to purchase the right quantity at the best
price, materials purchased should seifNthe objective, production should not be held up,
unnecessarily capital should not ed up in stores, best quality of materials should be
purchased and company’s om&e position and its reputation for fairness and integrity should
be safeguarded. °
Only scientiﬁqgr asing will help in achieving the above objectives. With proper plans,

ed at a lower price than competitors, turnover of investment in inventories

materials can be&
can be high % asing department can advise regarding substitute materials, new products,

change n@n s, creating goodwill etc.
Met f Purchasing

hasing can be broadly classified as centralized and localized purchasing.
(a) Centralized Purchasing: In a large organization, manufacturing units are many. In such
cases centralized purchasing is beneficial. The advantages of centralized purchasing are:

1. Specialized and expert knowledge is available.




. Advantages arise due to bulk purchases.

. The cost of purchasing can be reduced and selling price can be lowered.

. As there is good knowledge of market conditions, greater control can be exercised.
. When materials have to be imported, it is advantageous to centralize the buying.

. Economy and ease in compilation and consultation of results.

. It can take advantage of market changes.

. Investment in inventories can be reduced.

© 00 N O O A W DN

. Other advantages include undivided responsibility, consistent buying po :

Factors to be considered when decision regarding centralization has tQ be taken’are
geographical separation of plants, homogeneity of products, type of.ni’%vél.%

location of supplies etc. \Q

(b)Decentralization of Purchases: The advantages, localized purchasing or

ought,

decentralization of purchases are:-
1. Each plant may have its own particular need. Thi ca.rbpe given special attention.
2. Direct contact can be established with su “27

3. The time lag between indenting and receiving materials can be reduced.
4. Technical requirements of each pI:& be ascertained.

Purchase Procedure:
The steps usually fo Iow@p purchase of materials may be enumerated as follows:-

1. Indenting for mat

The stores départment prepares indents for the purchase of materials for replenishment of
stocks (regular i or for a special job (special indents) and sends it to the purchase
departmen@ar indents are prepared periodically and placed when the ordering level for
differ nt@n of stocks are reached. The quantity indented is equal to the ordering quantity fixed
for%’n&m. The special indents are based on the demands received either from the planning or

uttion department.




XYZ Co. Ltd.
MATERIAL PURCHASE INDENT
Date: For the Period:

Indent No: Demand Note No:
Regular/Special

Serial Stores Last Pur.

Number | Description | Code No. Quantity Order No.

For Purchase Dept. Use

Tender Nos.

Issued on.

2. Issue of tenders to suppliers:

The purchase department issue tenders to suppliers or publish them in papers. The suppliers

quote their terms of price and delivery/payment. After the last date for receipt of quotations is over,




the tenders are opened and a comparative statement is prepared. Tenders are prepared in triplicate.
Of them, two are sent to the suppliers and one is retained with the purchase department. The
supplier mentions his terms in the original.

While considering the tenders, the reliability of the supplier has to be taken into acceunt.
The quality of goods and time taken to deliver the goods on previous occasions should b@
The financial stability and capacity to deliver goods should be ensured.

Sometimes purchases may be made without inviting quotations. The @Q
when prices are controlled, or purchases are made under long term contrav:% alogue prices
are available or when there is a cost plus contract. If purchase is made,under cost plus profit basis,

A

nces are

the cost composition and reasonableness of price should be checlg..&
INVITATION TO TENDER N
Indent No: Tender No:

Date:
To
XYZ Co.Ltd.

Dear Sirs,
The stores menti &low are required to be delivered at our works godown. The terms

and conditions of sugply are mentioned overleaf. The first copy of this tender should be returned
to us duly fille \&

For ABC Co.Ltd.

As [
if w d@lace an order with you.
N Q' Yours faithfully,
% [

Particulars | Quantity | Place of




Of stores/ | required | Delivery | delivery | Quantity which

Supplies required | can be supplied

)

Special conditions:

We agree to supply the above on terms mentioned below. \@
® :

Place: For XYZ

\.
3. Placing of purchase orders: C E y
e

Normally six copies of purch er are made. The supplier, stores, inspection

department, store accounting sectio e department and progress department are sent one

Q

copy each.
The purchase order fas I%&‘ and accounting significance. From legal point of view, it binds
both the parties to the T the contract. Form the accounting point of view; it signifies the
amount which W spent. It signifies the stores department to accept the goods and the

accounts depa 0 accept the bill.




A.B.C. CO. LTD.
MATERIALS PURCHASE ORDER
Order No: Indent No: Store Receipt No:

Quotation No: Inspection Note No: ‘

e terms and

SN

conditions mentioned overleaf will be applicable. Please supply the fgllqving i;ems at the prices

indicated below: N

No. Y.,

\
o&@\
: \5'
N
cg&
QJA

_\Ter%‘VDelivery: Please send bill to:

s of Payment:
Special Conditions: For A.B.C. Co. Ltd.

Description | Stores Code Speciﬁsiionq Quantity

4. Inspection:




The supplier delivers goods at the place specified. Two delivery challans are prepared by
the supplier one of which is returned. It is a proof of delivery. After receiving the goods, the

inspection department or production department or maintenance department (as the case may be)

IS intimated

The inspector checks that the materials are in accordance with the quality required stank?
expected, tolerances allowed etc. After inspection an inspection note is prepared i
copy is sent to the supplier, one to the stores, and one to the inspection departm@

Q
\.'s

5. Receiving Stores:
The stores department prepares a Stores Receipt or the guantity of stock accepted in
inspection. After issuing of the Stores Receipt, theﬁtdseeper is responsible for the stocks. The

stores receipt is the document for the posti ipts in Bin Card and the Stores Ledger. It is
prepared in quadruplicate and sent t @ lier; stores accounting section and purchase

department and one copy are retained ywith\the stores. The supplier encloses this copy along with

his bill. The stores accounting sect pares the note with the purchase order.

ABC CO. Ltd.

STORES RECEIPT N

S.R. No: \ P.O.No: Inspection Note No:
Date: \Q Date: Date:

RQ% form M/s under their delivery challan no:

daQ the following items of stores against the above purchase order:
(Y

N

Stores Description Unit Quantity Price
Code No:




AR

h 4

Stores Ledger.........cccveennan. @gnature of
[ ]

Posted in:-

Y

6. Checking and passing of bills for paymen ;\.'ﬁ
Bills received by the purchase depac:% forwarded to the stores accounting section

to check the authenticity regarding quantit price and the arithmetical accuracy. Special
items included in the bills eg:- freig charges are verified with the purchase order. The
bill is later passed for payment. @r eeping: Store keeping is a service function. The
storekeeper is a custodian aIS-é items kept in the store. The stores should be maintained
properly and cost m.inl

D
N4
The main ohk%es of store keeping are:-
T tgt)stores against losses
' & goods ready for delivery/issue
%5 provide maximum service at minimum cost.

The duties and functions of Store-keeper can be summarized as follows:

1) Materials should be received, unloaded, inspected and then moved to stores. The materials have

to be stored in appropriate places and records the receipts in proper books.




ii) The stores records should be maintained in an efficient and orderly manner so that materials
can be easily located and information can be obtained for various departments.

1) The stores should provide maximum protection and safety and accessibility and utilize

minimum space. Suitable storage devices should be installed.
Iv)The materials should be given special covering to prevent damage due to atTosphg:'c

conditions.

v) All issues should be properly recorded, efficiently, promptly and accurately.@lSQs should
be duly authorized and procedures laid down should be duly followed. %

vi)The storekeeper is responsible for co-ordination with materials coq&laccor ing to the type of

production, size of the company, the organization structure etc.
vii) Ensure that all transactions are posted in the Bin Card see th in Card is up-to-date.
viii) All items should be in its proper place. °

iX)Maintenance of stores at required levels.

X) Neatness in stores to facilitate physical verificatign. 9
xi) Co-ordination and supervision of staff i th?q;e

xii) Periodical review of various scales, measurjig instruments, conversion ratios etc.

department.

xiii) Protect stores from fires, rust jon, dust, theft, weather, heat, cold, moisture and
deterioration etc. Q
Requisitioning for Stores Q)

One of the dutiesOf orekeeper is to send requisitions for materials for replenishment
in time so that the p'rwc Jon is not held up due to shortage of materials. The storekeeper should
also see that the \Qb unnecessary blocking of capital due to overstocking of materials. For this
he keeps a I@ on the re-order level, economic ordering quantity, and the maximum and
mini un@é\tity which he is authorized to store in respect of each kind of material.

A)Resordering Level
°Re-ordering level is that point of level of stock of a material where the storekeeper starts
the process of initiating purchase requisition for fresh supplies of that material.

This level is fixed somewhere between the maximum and minimum levels in such a way

that the difference of quantity of the material between the re-ordering level and minimum level




will be sufficient to meet the requirements of production until the fresh supply of the materials is
received.
FORMULA

Re-ordering Level= Minimum Level + Consumption during the time required to get

the fresh delivery
According to Wheldon,

Re-ordering Level= Maximum Level x Minimum re-order period.

Here, maximum re-order period means the maximum perlodt en to e the material once
the order for new material is placed. Wheldon has taken the ax perlod and maximum
consumption during that period so that factory may not sto ctlon due to shortage of
materials.

Illustration: 1 Calculate the ordering level of materia om the following particulars:
Minimum Limit 1,000 units.

Maximum Limit 5,000 units. Yy
Daily requirement of material 200 un't()
Time required for fresh delivery 10

Solution:
N Q)
Q

Formula

Ordering Level=Mini imif + Consumption during the time required for fresh delivery
—106%& 200 units x 10 days

Order for t@ase of material should be placed when the material in stock reaches 3,000 units.

IIIus];NFat@ Calculate the re-ordering level from the following information:

consumption = 500 units per day
%mum consumption = 400 units per day
Re-order period = 10 to 12 days
Solution

Re-order Level = Maximum consumption x maximum re-order period




= 500 units x 12 days = 6000 units.

(B)Economic Ordering Quantity
The quantity of material to be ordered at one time is known as economic ordering quasdity.
This quantity is fixed in such a manner as to minimize the cost of ordering and carrying Qe st

The total costs of a material usually consist of: Q

Total acquisition cost + total ordering cost + total carrying cost.
Since the acquisition cost per unit of material is same whatever is th@ purchased, it
at

is usually excluded when deciding the quantity of a material to be ordered
o
costs to be taken care of are the ordering costs and carrying co%

e time. The only
?/:;?y with the quantity
ordered.

Carrying Cost: It is the cost of holding the materials\ig the'Store and includes:

. Cost of storage space which could have been utilized me other purpose.

C’

[

. Cost of maintaining the materials to avoi d?}ion.

. Amount of interest payable on the a t ofymoney locked up in the materials.

. Cost of spoilage in stores and handlm&
Transportation cost in relation '&

. Cost of bins and racks

. Cost of obsolescence of at@jue to change in the process or product.

. Insurance cost °

1
2
3
4
5
6.
7
8
9

. Clerical cost etc. *
In India all thes@ mount to 20 to 25 % of the cost of materials per year. Hence it becomes
necessary to é@e such carrying cost for efficient operations.

ow

staff posted in the purchasing department, inspection section and stores accounts
rtment.

2. Cost of stationary postage and telephone charges.

Ing Cost: It is the cost of placing orders for the purchase of materials and includes:




Thus, this type of costs includes cost of floating tenders, cost of comparative evaluation of
quotations, cost of paper work, and postage involved in placing the order, cost of inspection and

cost of accounting and making payments. In other words, the cost varies with the number of orders.

When the quantity of materials ordered is less, the cost of carrying will decrease but ordwlng

cost will increase and vice versa. <
Formula:

2CO
EOQ =—~

Q = Quantity to be ordered §.o’

C = Consumption of the material concerned in units during a yea&

O = Cost of placing one order including the cost of receivigg théxgoods i.e. the cost of getting an
item into the firms inventory ’

I = Interest payment including variable cost of storing %e unit per year that is holding costs of
inventory. ‘

Illustration 3: Find out the econom@ ring quantity (EOQ) from the following
particulars.

Annual usage: 6000 units

Cost of material per unit: Rs,

Cost of Placing and receivigg ene order: Rs.60

Annual carrying cest o unit: 10% of inventory value.

Solution: ){Q\ .
ch EOQ = I
&

= ual usage of material that is 6,000 units

w

O = Cost of placing one order that is Rs.60

| = Annual carrying cost of one unit that is Rs.zg’;(l)o =Rs. 2




2x6,000units x 60

E =
0¢ Rs.2

0 _7,20,000
Q= Rs.2

=3,60,000
= 600 Units
o\."
C) Minimum Level or Safety Stock level \?\

The minimum level is the minimum quantity of the ateQﬁ
hand at all times. The quantity is fixed so that the produgti t

hich must be maintained in
eld up due to shortage of the
materials. In fixing this level, the following factors should e considered:

1. Lead time i.e. time lag between indentingzand”Yeceiving of the material. It is the time

required to replenish the supply. Q Y’V

2. Rate of consumption of the ma\g ring the lead time.
3. Nature of the material. Mini | is not required in case of a special material which

is required against customer’s SEe@: rder.

L]
Formula for calculat@mum level or safety stock level given by Wheldon is as follows:
[ ]

Yy
>

mimum Stock Level = Re-ordering level-(Normal consumption x Normal Re-order

period)

aximum Level
It is the maximum of stock which should be held in stock at any time during the year. The
quantity is fixed so as to avoid overstocking as it leads to the following

disadvantages.




1. Overstocking leads to increase in working capital requirement which could be profitable
used somewhere else.

2. Overstocking will need more godown space, so more rent will have to be paid.

3. It may also lead to obsolescence on account of overstocking.
4. There are chances that the quality of materials will deteriorate because large (ock %:Ii

require more time before they are consumed. Q
5. There may be fear of depreciation in market values of the overstocked@ :

Formula According to Wheldon, Q

Ao

Maximum Stock level = Reordering level + Re-ordering Quantity— Wurh consumption X
Minimum re-ordering period) 0

E) Danger Level S

This level means that level of stock at which norm ues of the material are stopped and

issues are made only under specific instructions. pgnghase officer will make special
arrangements to get the materials which reafh jr danger levels so that the production may

not stop due to shortage of materials. \

Formula @

Danger Level = Average gons@ lon X Max.re-order period for emergency purchases.

F) Average Stock Le\S

The average stock |§WS alculated by the following formula:

Average Stock)l\‘ = Minimum Stock Level + %2 of Re-order Quantity.
ch Or

%io =% (Minimum Stock Level + Maximum Stock Level)

A

cf@tration 4. Calculate the minimum stock level, maximum stock level, re-ordering level
and average stock level from the following information:

()Minimum consumption = 100 units per day

(if)Maximum consumption = 150 units per day




(ili)Normal consumption = 120 units per day

(iv)Re-order period = 10-15 days

(v)Re-order quantity = 1,500 units

(vi)Normal re-order period = 12 days
Solution: < El

1. Re-ordering Level = Maximum Consumption X Maximum re-order period Q
= 150 units x 15 days = 2,250 units C}

2. Minimum Stock Level = Re-ordering Level-(Normal consumption Qrmal;

=2,250—(120 x12) = 810 units \Q

3. Maximum Stock Level = Re-ordering Level + Re-order Quantity-(Minimum

)

re -order period)

Consumption x Minimum Re-Order Period)

= 2,250 + 1500-(100 x—qu: 2.,750 units
[

4. Average stock Level = Minimum StockiLevel * %2 Re-order Quantity
= 810units + %2 0 units = 1,560 units
Stores (or Materials) records
In the stores the most in@%
(a)Bin Card. °
A bin card is'aﬁco of the receipt and issue of material and is prepared by the

t two records kept are bin cards and stores ledger.

store keeper for mem of stores. A bin card is also known as bin tag or stock card and is usually
kept in the r ere the material is kept. In a bin card not only the receipt and issue of material
IS rec rd%%nimum quantity, maximum quantity and ordering gquantity are stated on the card.
This the store keeper to send the material requisition for the purchase of material in time.
dres Ledger:
This ledger is kept in the costing department and is identical with the bin card except that

receipts, issues and balances are shown along with their money values. This provides the




information for the pricing of materials issued and the money value at any time of each item of
stores.
Perpetual Inventory System

The Chartered Institute of Management Accountants, London, defines the perpetual
inventory as “a system of records maintained by the controlling department, which reﬁ%{h
physical movements of stocks and their current balance”. Thus this is a system in ith the
help of Bin Cards and Stores Ledger, the balance of stock is ascertained after@
issue of materials. This is helps in avoiding closing down of firm for physith
Advantages of the Perpetual Inventory System
The following are the advantages of the perpetual inventory syst m:. %'.’

ceipt and

ation.

1. It avoids the disruption of production for physical checking ms of stores at the end of

the year. °
2. The preparation of Profit and Loss Account and B heet is possible without physical

taking is carried out systematically and without

a
verification of stock. *
L]
3. A detailed and more reliable control on the rwp\ in store is obtained.
Lé stog

4. As the work of recording and continuo
undue haste, the figures are more relia \

5. Continuous stocktaking will storekeeper and the stores accountant more vigilant in
their work and they will try to l@e‘p e records accurate and up-to-date.
6. Planning of producti “done without any fear of shortage as the management is constantly

informed of the stor'e%)s ion.

7. An inbuilt sy \Q}
a check on @er.

8. Err rs@ ortage of stock are readily discovered and efforts are made to avoid the shortage

Internal check will be in operation as bin cards and the stores ledger keep

f stogRim future.

*Thé capital invested in the stores can be kept under control and efficiently used as stock can be
compared with the minimum and maximum levels.
10. It makes available correct stock figures for claim to be lodged with the insurance company for

loss on account of stock destroyed by fire.




ABC Analysis

Under ABC Analysis, the materials in stock are divided into three categories for the purpose
of control. Generally it is seen that the materials which constitute the least percentage of items in
stock may contribute to a large percentage of value and a large percentage of items may represent
a smaller percentage of value of items consumed. Between these two items are those @:%?
percentage of which is more or less equal to their value in consumption.

Items falling in the first category are treated as ‘A’ items, of the secon@
items and items of the third category are taken as ‘C’ items. Such an analysi%n r
as ABC analysis. This technique of stock control is also known as stock control according to value

cKeéﬁaysis method. Thus,

ry as ‘B’

1al is known

method or Always Better Control method or Proportional Part V?:I
under this technique of material control, materials are listed ip=AL,”*B’ and ‘C’ categories in
descending order based on money value of consumption.

ABC analysis measures the cost significance of eachtitem of material. It concentrates on
important items, so it is also known as ‘Control byw.ofsance and Exception” (CIE).

The report of the Indian Productivi % “Stores and Inventory Control in U.S.A.,
Japan and West Germany” gives the fol O@ ample of ABC Analysis:

Group Percentage of Percentage of Costs
8 75%

Q;@ 20%

67% 5%

The significanse\o is analysis is that a very close control is exercised over the items of

‘A’ group whic Wt for a high percentage of costs while less stringent control is adequate for
category ‘B’ ery little control would suffice for category *C’ items.
Issue of @e ials
erials issued from stores are debited to the jobs or work orders which received them and
jted to the materials account. These jobs are debited with the value of materials issued to them.
But what is the value of materials? Theoretically the value includes the invoice price less
trade discount, the freight, cartage, octroi and insurance on incoming materials, expenses of

purchase, receiving, storing and record keeping and carriage from the stores up to the process




plant. However, in practice, it involves minute calculations for including all these expenses and is
a big task compared to the benefit derived from it.

Moreover the price changes according to the market conditions and at any given time there
will be stock of materials purchased at different times at different prices. Hence the problemyas to
at what price the materials should be issued? ?N'

There are many methods of pricing material issues. The most important bein FIFO,
simple and weighed average methods. C}

1) First in First Out (FIFO)

Under this method material is first issued from the earliest con gn ent n hand and priced
at the cost at which that consignment was placed in the stores. | oth ?ds materials received
first are issued first. The units in the opening stock of material eated as if they are issued
first, the units from the first purchase issued next, and so on\mptil,the units left in the closing stock
of materials are valued at the latest cost of purchases

This method is most suitable in times off sgces because the issue price of materials

case of rising prices this method is not cause the issue price of materials to production

to jobs or work order will be high while t placement of materials will be low. But in
é ble)

will be low while the cost of repla materials will be high. The following example will
&d under this method.

illustrate how issues of materials Q
S

Illustration 5: The receive of the Stores Ledger Account shows the following

particulars: °

Jan. 1 Openin(j alahce: 500 units @ Rs.4

Jan. 5 Rec om vendor: 200 units @ Rs.4.25

Jan.12 d from vendor: 150 units @ Rs.4.10
@%elved from vendor: 300 units @ Rs.4.50

é;e;r; Received from vendor: 400 units @Rs.4

§ of material were as follows:

\/
Jan. 4-200 units; Jan.10-400 units; Jan. 15-100 units; Jan 19-100 units; Jan.26-200 units;
Jan.30-250 units.




Issues are to be priced on the principle of “first in first out”. Write the Stores Ledger Account

in respect of the materials for the month of January.

Cyv

Answer 5: FIFO Stores Ledger Account

-

Receipts Issues 2 ,Balance

N

Y

)
<

Particulars

Quantity (Units)
al Cost(Rs)
Total Cost(Rs)*’

Unit cost(Rs)
Amount (Rs)

%
U

o | Quantity(Units)
~ [Per unit(Rs)

Balance b/d

e

=N
N O
o O
o O

Requisition

N

slip no. .......
A

Goo‘o%\&\

recei note

Py
v
%i; Requisition

slip no. ........




Goods

received note

Requisition

slip no. ........

Requisition
slip no. ........
Goods

received note

Requisition 205 | 4.10

slip no. ........

150 | 675 | 4.50

Requisiti n\ 150 | 675 | 4.50
slip nd\%

100 | 400 | 4.00

2) [ rst Out (LIFO)

der this method, issues are priced in the reverse order of purchase i.e., the prices of the
[

%l available consignment is taken. This method is suitable in times of

rising prices because material will be issued from the latest consignment at a price which is closely
related to the current price levels. Valuing material issues at the price of the latest available

consignment will help the management in fixing the competitive selling prices of the products.




Answer 6: LIFO Stores Ledger Account

Receipts Issues Balance

Particulars

2

N—r

>
>
—
=
c
(4]
>

Quantity (Units)
Total Cost(Rs)

Lo}
(%]
o
N
+—
(72]
o
(&)
=
[
)

—~

2

c

D

N

>

-

—

[

(g0

o

(@4
\2Dc‘° ’

o
00

Amount (Rs)

~ [Per unit(Rs)

Balance b/d

9 1(@Lc:ost(Rs)

=N
N O
o O
o O

Requisition 300
slip no. ........

Goods : 300

received note

Requisition\\
slip nQ. W,
S
Jan 12 /6 00ds

@geived note

no.

Requisition

slip no. ........




Requisition

slip no. ........

Goods

received note

Requisition

slip no. ........

Requisition

slip no. ........

¥y

3) Simple Aver&\%zthod

In th@%od, price is calculated by dividing the total of the prices of the materials in the

sto o@hich the material to be priced could be drawn by the number of the prices used in that
I. §his method may lead to over-recovery or under-recovery of cost of materials from

[

ta
%uction because quantity purchased in each lot is ignored.
Eg:-
1000 units purchased @ Rs.10
2000 units purchased @ Rs.11




3000 units purchased @ Rs.12

In this example, simple average price will be Rs.11 calculated as below:

_ Rs.10 + Rs.11 + Rs.12
B 3

4) Weighted Average Methods
In this method, price is calculated by dividing the total cost of mate&n the stock from
which the materials to be priced could be drawn by the total quantity Na:@ials in that stock.

In the above example, the weighted average price is Rs.11.33 t calculated as follows:

_ 1000 xRs.10+ 2000 x Rs.11 + 3000 x
1000+2000+3000

=Rs. 11.33
In the periods of heavy fluctuations in the priﬁots'naterials, the average cost method gives
[

ctuations in prices by taking the average of

better results because it tends to smooth Oft t

prices of various lots in stock.

Illustration 7 \

Prepare a statement showing t@\g of issues, on the basis of
(A) Simple Average an Q)

(B) Weighted Avera yds from the following information pertaining to Material-D
2016 March 1 Pu.r ased 100 units @ Rs.10 each

2 P@sed 200 units @ Rs.10.2 each.

@Jed 250 units to Job X vide M.R.N0.12

%@ 7 Purchased 200 units @ Rs.10.50 each

10 Purchased 300 units @ Rs.10.80 each
% ’ 13 Issued 200 units to Job Y vide M.R.No0.15
18 Issued 200 units to Job Z vide M.R.No0.17
20 Purchased 100 units @ Rs.11 each
25 Issued 150 units to Job K vide M.R.No.2




Solution:
(a) Simple Average Method:

Stores Ledger Account

Receipts Issue

Date : Price Value | Qty. Price
Rs. Rs. Rs.

2016 10 1000
March 1
March 2 : 2040 -
March 5 - 10.10 (1) 4
March 7 2100 -

March 10 3240 - N

March 13 | - - 200 |10.507

CN
March 18 | - W.GS @)

)
150 10.90

March 20 | 100 1100‘ -y -

March 25 -

Working Notes: '\;'
1. Calculation of Price for Iss@/larch 5th
10

=10 +10.2/2 @
2. Calculation of Pfige fosdssue on March 13th

=10.2 + Ot ‘}0.8 /3=Rs.10.5

3. Calcula@rice for Issue on March 18th
= @Js 10.8/2 = Rs .10.65

f. C%ﬁtion of Price for Issue on March 25th

°=10.8+11/2=Rs.10.90
(b) Weighted Average methods

Stores Ledger Account

Receipts Issue Balance




Date

2016
March 1
March 2 : -
March 5 10.13 (1)
March 7 -
March -
10
March
13

March 4%
18

N
March 1100 \r '

20
( )
March

e\
25 (\'®

Working Notes: ~/

1. Calculation of price for Is ortcl\%arch 5th
= 3040/300 = Rs$

2. Calculation ﬁQ@ or Issue on March 13th
= 5844§%i Rs.10.63

3. Calcu of price for Issue on March 18th

10.78)

21/350 = Rs.10.63

fculation of price for Issue on March 25th
= 2695/250 = Rs.10.78




° \. .’
UNIT-3 w
Labour Cost

Labour is an important element of cost and for,Qv ‘tost control and cost reduction,

Labour Cost is of paramount importance. Labour Cost is also called as Employee Cost.
However, for control and reduction of Labour Costit is &ssential to compute the Labour Cost in a
scientific manner and hence there should /e pkgp stems and processes and documentation,
which will help computation of Labour Qn)a scientific manner. It should be remembered that
Labour is not like material as there i aspect involved in it. Therefore, there should be a
comprehensive study of all relate cts of Labour Cost and then only computation and control
over the same will be po iblgﬂttention should also be paid to the productivity aspect. Low
productivity results.i i I:abour Cost per unit while higher productivity will reduce the
Labour Cost per ynj Nt ese aspects of Labour Cost are discussed in detail in this chapter. Study
of Labour or Employee Cost can better be explained as follows:
Various asp& f Labour Cost Control

n% modern competitive environment, it is essential to make efforts for controlling and

ducinhg the Labour Cost. Systematic efforts are required in order to achieve this target. The
%wing steps will be useful in controlling and reducing the Labour Cost.

A. Classification of Labour cost:

The first step in the direction of controlling and reducing the Labour Cost is proper

classification of the same. The Labour Cost is classified into Direct Cost and Indirect Cost.




Direct Labour Cost is the cost that can be identified with a product unit. It can also be
described as cost of all Labour incurred for altering the construction, composition orcondition of
the product.

Indirect Labour Cost is the cost, which cannot be identified with a product unit, It
represents the amount of wages which is paid to the workers who are not directly engaged ork;'
production but it includes wages paid to the workers and assistants working in d
purchasing, store keeping, time office, maintenance, and other service and produgti

In other words, indirect wages are the wages paid to the work facilitate the
production rather than actually engaged in production. The Direct bour C t can be charged
directly to the job or product units and is included in the prime c dlrect Labour Cost is
included in the overhead cost. Direct Labour Cost is variable i and can be controlled by
strictly adhering to the norms and standards set by the ma Indirect Labour Cost can be
controlled by establishing Labour budgets and comparing ctual Indirect Labour Cost with the
budgeted Labour Cost. Any difference betwe th d{vo is analysed carefully and suitable

corrective action is taken

B. Production Planning: < ) E

Effective control over the La Cost Can be achieved through proper production

planning. Production planning i activities like planning, scheduling, routing, machine
loading, product and process e@ijl ring, work study etc. With the help of work study, time and
motion study can be cordu Which will help in fixation of standard time for a particular job. A
comparison between the standard time and actual time is constantly made to find out the difference
between the tv@&e corrective action can be taken if it is noted that the actual time taken is

constantly an the standard time allowed for the job.

get and budgetary control are effective tools for cost control and cost reduction. A
dr budget can be prepared which will set the target for the Labour Cost which will again
facilitate comparison between the Budgeted Labour Cost and the Actual Labour Cost.
D. Labour Standards:




Standards can be set for Labour Cost against which the Actual Labour Cost can be
compared. Standard Labour Cost is the cost, which should have been incurred for producing a
particular quantity of production. While fixing the Standard Labour Cost, use of time and motion

study is made to fix up the standard time that should be taken for the actual production.
E. Labour Performance Report: El

There should be a system of periodic Labour efficiency and utilisation report
will give an idea about the efficiency and productivity of the Labour. C}

m'g’ monetary and non

F. Incentive Schemes: %
Improving the Labour productivity is one of the important ways to reduce the Labour Cost

o
per unit. Productivity can be improved by motivating the workers. %
monetary incentives can help to improve the productivity substapsiahly” However, there should be
a periodic review of the incentive schemes and thereforeNinc e schemes report should be

prepared at periodic intervals.

G. Labour Cost Accounting: 9
There should be a proper cost accoun 'n@, which will identify the Direct and Indirect
Labour Cost. Similarly the cost accounting depdartment should be able to generate and maintain

records for time keeping, time bookings and overtime, impact of incentive schemes, per unit

of Labour, cost due to Labour Tun@ d other relevant records. Thus from the above mentioned
points, it will be clear tha the@ij

combined efforts of vakiou artments.

need to control the Labour Cost and it can be done by the

Principles of measﬁ;ine of Labour Cost
The guid or ascertaining the Labour Cost / Employee Cost are as follows :-

(@) Emplo& shall be ascertained taking into account the gross pay including all allowances
g

payable :@ ith the cost to the employer of all the benefits

b) %swhether payable as a statutory minimum or on a sharing of surplus shall be treated as
f Employee Cost. Ex-gratia payable in lieu of or in addition to bonus shall also be treated as

part of the Employee Cost.

(c) Remuneration payable to managerial personnel including executive directors on board and

other officers of a corporate body under a statute will be considered as part of the Employee Cost




of the year under reference, whether the whole or part of the remuneration is considered as a
percentage of profits.

(d) Separation costs related to voluntary retirement, retrenchment, termination...etc shall be
amortized over the period of benefitting from such costs.

(e) Employee Cost shall not be included any Imputed Costs. v
(F) Any subsidy, grant, incentive or any such received or receivable with respect to oyee
cost shall be reduced from ascertainment of Cost of the cost project to which @1 ounts are

Cost. .\ "
(h) Penalties, damages paid to statutory authorities or other thir \%S shall not form part of the
Employee Cost. °

related. Q
(g) Any abnormal cost where it is material and quantifiable shall no@ part of the Employee

(i) The cost of free housing, free conveyance and an er similar benefits provided to an
employee shall be determined at the total cost of alkﬁjvgiges consumed in providing such benefits.

Any recovery from employees towards the ffci

vided shall be reduced from the Employee
Cost.

(j) Cost of idle time is ascertained by t hours multiplied by the hourly rate applicable to idle
employee or employee group.

(k) Where Employee Cost is a@JQed at standard cost, variances due to normal reasons related

to employee cost shal d as part of Employee Cost. Variances due to abnormal reasons

shall be treated as pagt of abnormal cost.
(I) Any change @)St accounting principles applied for the determination of the Employee

Cost should 5&’9 only if itis required by law or for compliance with Cost Accounting Standard
or ch ng@éid result in a more appropriate way of presentation of Cost Statement.
Con Labour Cost

®Labour cost consists of the total amount of wages paid to the workers and other expenses
related thereto. It includes hourly or piece-rates payable to the workers. It may be excessive due
to inefficiency of labour force, high idle time and overtime payments, increase in spoilage, waste

and defective production due to lack of supervision and inspection, high labour turnover and other




matters. Therefore it is clearly seen that the control of labour cost is essential in every organization
to cut down the cost of production and to improve the labour productivity/efficiency. The

following departments play a vital role in Labour Cost Control :-

(a) Human Resources Department

This department is responsible for the execution of policies regarding ap intrm
discharge, transfer, promotion, classi fication of labour, wage and incentive syste
have been formulated by the board of directors or executive committee. It @ maintain
detailed records of attendance, leave records, overtime and shift record%

calculations of wages, allowances, overtime, incentives are made. ,F\erorts oncerning labour

hich various
turnover, recruitment, productivity, utilization, absenteeism as well 5& ?t? on labour cost, idle
time, various cost ratios etc., are prepared here for submission t%r authorities for necessary
action. Q

(b) Engineering, Industrial Engineering Department

This department helps to maintain control-ﬁ.wprking conditions, production methods,

job performances by preparing plans and ?ﬁ;ﬂ n for each job scheduled for production,
maintaining safety and efficient work'n@ tions, initiating and supervising research and

development activities, making metho , motion study, and time study, setting piece-rates,

making job evaluation, merit ratin b analysis, measuring labour productivity and in general
suggesting ways and means to\improve labour efficiency/productivity thereby cutting down the
effective labour cost.
(c) Time Keeping Departrent

The func@ his department is mainly to keep, maintain the time for which each and
every work&d% worked including the check-in and check-out time. The records are kept

separ tel@r ifferent shift and irregular working periods like overtime period. The records are

uch at the departments wise/product wise/process wise/ batch wise/job wise/operation wise
%aﬁion of labour cost is possible. The entire correctness of calculation of payroll, overtime
payments, incentive payments, overhead allocation depend on the records maintained by this
department and as such the importance of the functions rendered by this department cannot be over

emphasised.




(d) Payroll Department

This departments is responsible for preparation of payroll and also basically to maintain
records of job classification, department wage rates to prepare each man’s earnings, to allocate
those earnings to various cost centres to summarise various deductions and employers’ shagg of
provident fund, state insurance and other items, and also to summarise overtime payments
incentive payments wherever applicable.

(e) Cost-Accounting Department g?g

This department is responsible for the accumulation and compilation %

to the element Labour. It analyses the payroll cost to effectively render routine and special labour,

data relating

o
cost reports thereby disclosing the amount of normal, and abnor I'e.lime, direct labour,
indirect labour, overtime and departmental labour costs and vari tween actual and standard
labour costs. These reports are used by the top manageme effectively control the labour cost

and also to improve the labour productivity/efficiency.

control through maintaining record of each work€r’s time in and time out during regular working

Time Keeping: *
[
Like Personnel Department, this d&@so plays an important role in labour cost

period and reporting the time of each r for each department, operation or production order.
Thus this department is responsib, ecording the attendance time of each worker accurately.
This will ensure punctuali anQdJ Ipline in the company and will have a positive impact on the
morale of each work ime keeping is a statutory requirement also and therefore accurate
recording of time shoyld be-ensured. The important role of time keeping from the point of view of
labour costing a ‘$ol can be summarized as given below :

(@) It shows E@a number of hours worked by each workman and so the calculation of his wage
becomes %ble. This is applicable where the workers are paid wages as per the time rate.
b)@xeeping promotes punctuality and discipline amongst the workers. In the absence of the
prie Reeping system, there will be not only indiscipline amongst them but the workers who are

otherwise punctual and disciplined will be frustrated.




(c) Certain benefits like pension, gratuity and leave with pay, provident fund, promotion, and
salary scale are linked with the continuity of service. Attendance records in this regard, can be
helpful in computation of these benefits.

(d) Computation of Labour hours becomes possible through time keeping records. This will_be
useful in overhead apportionment and absorption, which may be made on the basis @h

hours. Q
(e) Time keeping is a statutory requirement under Labour laws. g?
S

(F) The time keeping records can be used for further analysis like for fixatim%
finding out idle time as well as the efficiency of Labour. It can be ung/ researchers as well as

ard time and

° ..’

]
S

by Government Authorities for various purposes.

Methods of Time Keeping 9
The above-mentioned points highligft @rtance of the time keeping. The question
e th

that we have to answer now is that wh ethods of time keeping? The answer to this is
given in the following paragraphs. Th K@ds of time keeping are explained below.

(1)Time Recording Clocks or Clo

This is mechanized etIQd) time recording. Each worker punches the card given to him
when he comes in an t. The time and date is automatically recorded in the card. Each
week a new card is prepared and given to the worker so that weekly calculation of wages will be
possible. If wa \&aid on monthly basis, a new card may be given in each month. Due to
advancemen &nology, giving a new card each month is also not required as the same card
conti ue@he worker either leaves the service or retires from the service. The only limitation

f th hod, [in fact it is the limitation of all the methods of time keeping] is that though the
i ih and time out are recorded, the records do not show the productive time of the worker, i.e.
how he has spent the time in the factory. Thus if a worker comes in at 8 am and leaves at 5 pm, he
has spent 9 hours in the company, which can be ascertained from the time keeping records.

However, how he has spent time, is not be shown by these records. For showing the productive




time, separate records showing time booking are to be prepared. The time booking records can
also be combined with time keeping records so that there is no need to keep dual records.
(2) Disc Method:

This is one of the older methods of recording time. A disc, which bears the identific%

number of each worker, is given to each one. When the worker comes in, he picks up hisdisc f

the tray kept near the gate of the factory and drops in the box or hooks it on a bo t his

number. Same procedure is followed at the time of leaving the factory. The ljox4 oved at

starting time, and the time keeper becomes aware of late arrivals by r%l the workers
tt

concerned to report him before starting. The time keeper will record in,an Attendance Register any

o
late arrivals and workers leaving early. He will also enter aboug{r@haes in the register on

daily basis. The main limitation of this method is that theregi ossibility of marking the

attendance of a worker by his friend i.e. by a proxy. Seco If the number of workers is large,
there will be a delay in recording time due to manual op n of this system.

every worker signs in an attendance register agaifist his name. Leaves taken by workers as well as

e
(3) Attendance Records: O
This is the simplest and the oldest meéﬁo@king attendance of workers. In this method,

late reporting is marked on the attenda ister itself. The main limitation of this system is that
in case there is large number of¢ rs, there may be large queues for signing the muster.
Similarly there is little ¢ ntr@

er marking the attendance time and hence there may be

irregularities in time r

Time Bookinq:@

In tge ping we have seen that the basic objective of time keeping is to mark the

atten an@

hou t by a worker in the factory. However, it does not record the productive time of the

, 1.e. time in and time out. Time keeping aims at keeping a check on the number of

érs. It means the time keeping methods do not provide information about how the time is
spent by the workers in the factory.
For example, the time keeping record will show that the worker has reported for duty at 8

am and left at 6 pm, thus, he has spent 10 hours in the company. But the analysis of these 10 hours




is not provided by the time keeping. In view of this there is a need to have a system, which will
tell about the productive time spent by the workers in the factory. The method, which supplies this
information, is known as ‘Time Booking Methods’ and the recording the time spent by a worker

in each job, process or operation is known as ‘Time Booking’.

The objects of time booking are as follows:- Q.gv
(i) To determine the productive time spent by the worker on the job or operation sin
finding out the idle time and controls the same. C}@

(i1) To determine the quantity and value of work done. Q

(ili) To determine earnings like wages and bonus.

(iv) To determine the efficiency of workers. @

)

Time Booking Methods:

The following methods are used for time bookin@,q,

(1)Daily Time Sheet:
In this method, each worker records the timﬂg&) by him on the work during the day, for

which a sheet is provided to each worker ime is recorded daily and hence accuracy is
maintained. However, the main limitatigniof this"method is lot of paper work is involved as daily
sheets are maintained on daily basis b worker.
(2) Weekly Time Sheets:

The only difference bet\@we daily time sheet and weekly time sheet is that these time

sheets are maintained y basis. This means that each worker prepares these sheets weekly

is that since the \ tion is filled up on daily basis, there may be

rather than daily. Th'l;hel in reducing the paper work to a great extent. The only care to be taken

Inaccuracies ﬁbnence filling the information should be done on daily basis only.
3) Job T §
tickets are given to all workers where time for commencing the job is recorded as
d5 the time when the job is completed. The job tickets are given for each job and the recording
of the time as mentioned above helps to ascertain the time taken for each job. After completing
one job, the worker is given another job.
(4) Labour Cost Card:




This card is meant for a job, which involves several operations or stages of completion.
Instead of giving one card to each worker, only one card is passed on to all workers and time taken
on the job is recorded by each one of them. This card shows the aggregate labour cost of the job
or the product.

(5) Time and Job Card: ng

This card is a combined record, which shows both, the time taken for compl job

as well as the attendance time. Therefore there is no need to keep separate recor@

both, time taken and attendance time. %
Thus we may distinguish time keeping and time booking, that tpe»:;me eeping is simply

o
maintaining attendance of the workers i.e the time of arrival an the& b?departure and there

maintaining the time spent by the workers in the organizatiog,

by the time spent by the worker in the organization is measured, s time booking is not only
Iso the time spent on each &

every job including the idle time with reasons are recorde
Work Study O

In order to motivate workers, it is nec ssm‘&\pesign a proper incentive system of payment

of wages. Money is the strongest motivatiRg factor and hence monetary incentive system become
essential. In any incentive syste e bonus is paid by comparing the standard
performance/production with the &rformamce, i.e. actual production. Bonus is paid if the
actual performance is hi he@ the standard one. However, for deciding the standard
performance, standard 4 time that is allowed doing a particular job should be fixed against
which the actual timeytakew should be compared. The Work Study which includes, the Job Study,
and the Metho ensures the fixation of standard time to do a particular job and thus has
become extr rﬁ@ Important in the designing of the incentive system. Work Study components
are di cu@i elow.
Met udy

*Method Study is done to improve the methods of production and to achieve the most

efficient use of the resources like, manpower, machines and materials. Method Study has the

following stages:-




(a) Method Study is generally conducted for the jobs, which involve complex operations as well

as costly operations. Hence the first step is to select jobs, which are having complexity of

operations.

(b) There should be a detailed study of related aspect of the selected job. Information about the,job

like, purpose, location, sequence, relationship with other work, methods of working, @%{%;'

requirement of skilled workers, facilities required etc. should be collected.

(c) The crucial step is that after studying the relevant aspects of the job%&

development of the improved method of doing the job. An improved metho%i
ayo

the location and sequence of the work, methods of production and the |

ould be
ight change
for the job. The
improved method will result in more efficiency, more simplicity nd. i'\/?ness and job will be
done in a better manner. KQ

(d) The developed method should be applied in doing the j °

(e) For any new method, a follow up is always required. ethod study also a constant follow
up is necessary to ensure that the method selecteéﬂmlemented properly. Thus method study
ensures efficient use of resources by reducin

production.
Work Measurement \

essary work and helps to achieve highest

The Work Measurement ai§'®etermining the effective time required to perform a job.
The ineffective, wasteful o av@j

The effective time so estab @ in work measurement can be used for the following purposes:-

e time is separated from required time to complete the work.

(@) Incentive Wage°s% s which require data about the time allowed and time taken for a
particular job.
(b) Improvi Qb.ization of men, machines and materials.
(c) A sis@ IN production control.
d) fhg in setting labour standards.
dst control and reduction.
The following stages are involved in work measurement:-
(i) Selection of work.

(if) Measuring the actual time taken in the work done.




(iii) Making comparison between the standard time and the actual time.

Job Evaluation

It is necessary for the management of any organization to establish proper wage and salary

structure for various jobs. For doing this in a scientific manner, it is necessary to determing,the

relative value of jobs and hence a job evaluation is done. Job Evaluation is a technique of analysis

and assessment of jobs to determine their relative value within the firm. It aims feling a
\ r

rational and equitable basis for differential salaries and wages for different clasges kers.

Job Evaluation has the following objectives:- %
(a) It helps in developing a systematic and rational wage structure as % job structure.

o
(b) Job Evaluation aims at removing the controversies and disputes r& t?) salary between the
employers and employees. Thus the employees and also the em emain satisfied.

(c) Another important objective of Job Evaluation is to %@ and stability in the wage and
m

salary structure so as to ensure full cooperation of worker plementing various policies of the

employers. 9

(d) Job Evaluation discloses characteristics an itions relating to different jobs. This is very
useful at the time of recruiting of work r@mitame workers can be recruited. This avoids
square pegs in round holes. K
Methods of Job Evaluation '&
Methods of job evaluation are @Qows:-
(1) Point Ranking Methed:\ '\, *

In this metho'olﬁc job is analyzed in terms of various job factors or characteristics. The

characteristics a %ﬁs

soon. Inoth s the job factors are the requirements needed for performing the job effectively.

required, efforts involved, working conditions, hazards, responsibility and

Each 'ob@t is given weightage or points depending upon its value for the job. For example,
for cegtam jobs, maximum value is assigned to experience while for some jobs, education may be

st crucial factor. Finally each job is ranked in the order of points or weights secured by
them. The wage structure can be suitably designed according to the points assigned to each job.
The method is quite sound in principle but difficulties may be faced assigning the weights to each

job.




(2) Ranking Method:

In this method, jobs are ranked in order of importance on the basis of skills required,

experience requirements, working conditions etc. Jobs are rearranged in an order, which can be

either from the lowest to the highest or in the reverse. Wage scales are determined in terms_of
ranks. Though this method is quite simple to operate and less costly as well asfeasy E;r

understanding, it is suitable when the size of the organization is small and jobs ar
defined. In a large organization, where jobs are quite complex, this method is n@ |

(3) Grading Method %
This method is an improvement over the ranking method. Under this method, each job is
gg 'Qr class. Grades are

analyzed in terms of a predetermined grade and then assigned a
established after making an investigation of job factors, such as ¢ ity in the job, supervision,

responsibility, education etc. °

Merit Rating

\.”
Job Evaluation is the rating of th @ ;rder to bring rationality in the wage and salary

structure in the organization. On the and Merit Rating is the comparative evaluation and

analysis of individual merits of t oyees. The Merit Rating aims at evaluation and ranking
the individual employees jn o& plan and implement rational promotional policies in the
organization. Merit Rati e following objectives:-
(@) To evaluate the r&it an employee for the purpose of promotion, increment, reward and
other benefits.
(b) To esta @ develop a wage system and incentive scheme.
(c) T d@l e the suitability of an employee for a particular job.

ze the merits or limitations of a worker and help him to develop his capability and

8tence for a job.

(e) To examine characteristics like cooperation, quality of work done, attendance and regularity,

education, skill, experience, character and integrity and initiative.




Thus it can be understood that Merit Rating is extremely useful for organizations for evaluating
the employees. However the main limitations are that the rating can be subjective which will give

rise to the disputes and there is a possibility that past performance of an employee may be given

too much importance.
Difference between Merit Rating and Job Evaluation C)v
The difference between the Merit Rating and Job Evaluation are as follows:-

(a) Job Evaluation is the assessment of the relative worth of jobs within a busin@rise and
Merit Rating is the assessment of the employees with respect to a job.

(b) Job Evaluation helps in establishing a rational wage and salary structure. On the other hand,
Merit Rating helps in fixing fair wages for each worker in te?m& pls competence and
performance.

(c) Job Evaluation brings uniformity in wages and salaries While it Rating aims at providing a
fair rate of pay for different workers on the basis of their rmance.

Time And Motion Study O

The study of time and motion is ess nt@esigning an incentive system. Time Study

determines the time to be spent on the(j@b. Stafidard time is the time that should be taken for
completing a particular job under stan r normal working conditions. For fixation of standard
time, Motion Study is necessary. e Motion Study precedes the Time Study. Motion Study
means dividing the job into fu ental elements or basic operations of the job or process and
studying them in detai ihate the unnecessary elements or motions. After investigation all
movements in ajob,'gﬁze or operation, the Motion Study aims at finding out the most scientific

and systematic \g@ﬁ

should be taﬁ0 perform these motions is decided with the help of a stop-watch. In the time so
a

erforming the job. After eliminating unnecessary motions, the time that

fixed, so
f&ﬁmge of tools, and preventive maintenance of machines and so on. Thus standard time for

Br process is arrived at.

wance is added in the same for normal idle time, which is due to fatigue, change

The Time and Motion Study aims at :-

(a) Eliminating unnecessary motions, thereby reducing inefficiency.

(b) Improving methods, procedures, techniques, and processes relating to a job.




(c) Effective utilization of men, material, machines and time.

(d) Improving working environment, layout and design of plant and equipment.

The following are the benefits of Time and Motion Study:-

(a) Effective utilization of resources like men, material, machine and time.

(b) Helps in assessment of labour.

(c) Helps in designing incentive system as many of the incentive systems are basgd

time.

(d) Preparation of labour budget. Q

(e) Proper planning of production for preparation of production budget.
(f) Helps in improving labour productivity by designing best met.r%o? performing a job or

process. \Q
(g) Improvement of work methods. &
Payroll Department

Roll of Payroll Department is of crucial in@e%fl.ce)in overall Labour Cost computation and

control. The main responsibilities of this de aw re preparation of payroll from clock cards,
job or time tickets, or time sheet. The p @ s the amount of wages payable to each worker

showing the gross wages payable, t uctions and the net wages payable. For doing this

calculation, they have to work in ration with the time office, personnel department, Cost
Accounting department and wi concerned department in which the worker is working. The
functions of this depar “given below:-

(a) To compute the Wages ef the employees

(b) To prepare ailed wages sheet showing the gross wages payable, various deductions and
other payrol I%h ies.

©T m@al individual employee payroll records.

d) are department wise summaries of wages.

dmpilation of Labour statistics for management.

(f) To install and implement an effective internal check system for preventing frauds and
irregularities in payment of wages.

(9) To detect and prevent ghost workers.




Cost Accounting Department

The Cost Accounting department is responsible for analyzing the Labour Cost for the
purpose of computation and control of the same. It is responsible for the accumulation and
classification of all cost data of which Labour Cost is one of the important components. The
Accounting department classifies the Labour Cost into direct and indirect, compares t
Labour Cost with the budgeted cost, compute unit Labour Cost and compiles the d '.*
analysis of the Labour Cost. The data generated can be useful for the man@
decisions. Q
Labour Turnover

Labour Turnover of an organisation is change in the labour fo \ufipg a specified period
measured against a suitable index. The rate of Labour Turno n industry depends upon

several factors such as, nature of the industry, its size, locationand position of the labour force.

A controlled level of Labour Turnover is considered des because it helps the firm to adjust

technology. : Y.V

the size of its labour force in response to needs.\uch.?s for seasonal changes or changes in

Causes of Labour Turnovers: \

The causes giving rise to high lab over may be broadly classified under the following the
heads: Q)

(i) Personnel Causes: ay leave employment purely on personal grounds, e.g.,

(a) Dislike for the jol, locatity or environments.

(b) Domestic tr t\

(c) Chang & or betterment.
(d) Retir due to old age and ill health.

d family responsibilities.

| Such cases, personal factors count the most and employer can practically do nothing to help
the situation.

(i) Unavoidable Causes: In certain circumstances it becomes obligatory on the part of the

management to ask some of the workers to leave. These circumstances are:




(a) Retrenchment due to seasonal trade, shortage of any material and other resources, slack
market for the product, etc.
(b) Discharge on disciplinary grounds.

(c) Discharge due to continued or long absence.
(iii) Avoidable Causes: Under this head, may be grouped the causes which need the atten ic%

reasons for which workers leave are:
(a) Unsuitability of job.

(b) Low pay and allowance.

(c) Unsatisfactory working conditions.
(d) Unhappy relations with co-workers and unsatisfactory behavj superiors.
(e) Dispute between rival trade unions. °

() Lack of transport, accommodation, medical and other rs.

(9) Lack of amenities like recreational centres, sc%o*,. elc.
The above causes may also be classified in.a nt manner under three heads, viz., Financial
Causes, Social and Economic Causes a sycmcal Causes relating to human relationship.
Measurement of Labour Turnover: K

It is essential for any orgam
having an idea about the t no@ h

the previous period wi fent one. The following methods are available for measurement of

to measure the Labour Turnover. This is necessary for

e organisation and also to compare the Labour Turnover of

the Labour Turnover;
(a) Additions M \

Und@ethod, number of employees added during a particular period is
0

taken int@

follows:

ideration for computing the Labour Turnover. The method of computing is as

dur Turnover = (Number of additions/Average number of workers during the period)x100
(b) Separation Method:
In this method, instead of taking the number of employees added, number ofemployees left

during the period is taken into consideration. The method of computation is as follows.




Labour Turnover = Number of separations/Average number of workers during the period)x100

(c) Replacement Method:

In this method neither the additions nor the separations are taken into consideration. The

number of employees replaced is taken into consideration for computing the Labour turnove
Labour Turnover = (Number of replacements/Average number of workers du‘lng tﬁe

period)x100 Q
PN
(d)Flux Method: Q
Under this method Labour Turnover is computed by taking into con@l n the
additions as well as separations. The turnover can also be computed %king replacements and

separations also. Computation is done as per the following meth%s(\} o
Labour Turnover = % [Number of additions + Number of s@p
[ ]

ions] /Average number of
workers during the period x100 &

Labour Turnover = % [Number of replacement upther of separations] /Average number of
workers during the period x 100 A~ {?\
Cost of Labour Turnover \) "
Increasing Labour Turnover is edged malady. It reduces the productivity of labour

and resulting in high costs. The f Labour Turnover may be analyzed under two broad
headings, Preventive Cos and@placement Costs. Preventive Costs refer to all those items of
expenditure which aréwi d in order to keep the workers satisfied and thus to act as
discouragement agéh&tl aving employment. Replacement Costs are those costs which are
incurred for the\% ment and training of new hands and the resulting losses, wastages and
lowering ow tivity due to the inexperience and inefficiency of the new labour force.

osts may be further grouped under the following heads:

nhel administration

“Most concerns would have a Personnel Department which is entrusted with recruitment,
training, and other problems arising out of the employment of the labour force. Obviously, the
entire expenditure of the department cannot be treated as labour turnover costs but a portion of the

costs which related to the efforts of the Personnel Manager in maintaining good relationship




between the management and the staff should be treated as Preventive Labour Turnover Cost. The
labour force remains satisfied if properly looked after and if grievances are sympathetically

considered.

2. Medical Service (Preventive and Curative)
Care for own health and that of family members gets prior consideration with th wo&'

who prefer those concerns where medical services are available. Further, a health

asset of the firm as he is able to make substantial contribution towards highler

productivity.

3. Welfare activities and Schemes

These include facilities like subsidised canteens, co-oper%r(& ,'I'g\undry and washing

services, sports, housing schemes, transport, and educational fac"%n hese facilities are as good

as higher wages offering incentive to the worker to stay % :
4. Miscellaneous Schemes such as Pension or Provident o Schemes, Bonus, High Wage and

Other Incentive Schemes *
o

Greater the advantage these prerequis r, the lower will be the rate of Labour
Turnover. &)
Replacement Costs consist of the fol
1. Loss of output due to delay in Mg new workers
As suitable workers ma@gﬁ

can replace the old on “this period, some output may be maintained by retaining surplus

e available readily, there is a time gap before a new worker

labour force to me€t,suchycontingencies or by working overtime. All such extra cost should be

taken as labour Q@e cost.

2. Emplovmayﬁbepartment Expenses
W@ increase in the tempo of recruitment, additional work is thrown on the Employment

rP el Department. Administrative expenditure is incurred for the selection, test and medical
fhation of the new hands for writing initial document like service records, fund accounts, etc.

3. Induction Training for new workers

Unless skilled workers are recruited (more likely on higher rates of pay ) who can be at right

way put on jobs, the average worker has to be given some induction training before he is fit to be




put on his assigned work. For certain categories of skilled and highly skilled jobs, intensive training
for some period may be essential.

4. Inefficiency of new workers

5. Cost of tool and machine breakage

The efficiency of new hands be generally low, productivity is reduced and cost increa%

While on training and the initial stages of work after completion of trainin eris
likely to break tools more frequently on account of his inexperience. C}
6. Cost of Scrap and Defective Work %

A new worker is likely to spoil work and although in most cases responsibility can be fixed
on him and no wages paid for the scrapped work, the expenditur@é
for the earlier operations done on the job becomes waste.
7. Cost of Accidents °

bpmaterial and wages

On account of his inexperience, the new worker 1 to disregard safety rules and he is
thus more prone to accidents. It may be noted thaHﬂr‘l&tFases in labour costs due to high Labour

Turnover contribute to create an inflationarftr ip the industry.

Measures to reduce Labour Turnover:

Labour Turnover may be reduc \gremoving its avoidable causes and taking preventive
remedial measures. The various S may be summarised as follows:
(i) Efficient, sympathetic and i@ al personal administration.
(i) Effective communijgati tem to keep the workers informed on matters that affect them.
(i) Improving workigg conditions and placing the right man on the right jobs.
(iv) Job enrich }&duce boredom and monotony and to provide job satisfaction.
(v) Introduci ébir rates of pay and allowance and incentives, pensions, gratuity, etc.
(vi) S rer@e ing welfare measures.

Vii) enting recreational activities and schemes.

llustration 1




During October 2015, the following information is obtained from the Personnel
Department of a manufacturing company. Labour force at the beginning of the month 1900
and at the end of the month 2100. During the month, 25 people left while 40 persons were
discharged. 280 workers were engaged out of which only 30 were appointed in the vacancy
created by the number of workers separated and the rest on account of expansior@\:&;’

Calculate the Labour Turnover by different methods. Q

Solution:

1.Additions Method:
Number of Additions/Number of average workers durin
=280 /2000 X 100 = 14%
2.Separation Method:
Number of Separations/Number of averageaﬂk.eﬁs during the period

= (25+40)/2000 x 100 = 3.25% Yy
3.Replacement Method:

Number of Replacements / N@o{average workers during the period

=30/2000 X 100 = 1.5%
Q
QO

4.Flux Method:
% [Number of ' % Number of Separations] / Number of average workers during

the period °\

= [¥(28 \@f 2000]x100 = 173/2000 X 100 = 8.63%

Note: @
Average r of workers in all the above methods is computed by taking Opening number of
gor Closing number of workers /2 = 1900 + 2100/2 =2000

fime Wages / Overtime Premium

The Factories Act provides for payment of overtime wages at double usual rates of wages.
Even where the Act is not applicable, the practice is to pay for overtime work at higher rates usually

in accordance with a standing agreement between the employer and the workers. Hence, payment




of overtime consists of two elements, viz., the normal (i.e., usual) amount and the extra payment,
i.e., the premium. Overtime premium is defined as ‘Overtime is the time spent beyond the normal
working hours which is usually paid at a higher rate than the normal time rate. The extra amount
beyond the normal wages & salaries paid is called Overtime Premium’.
Treatment of Overtime in Cost Records
Overtime Premium shall be assigned directly to the cost object or treated as g
depending on the economic feasibility and specific circumstances requiring suc@ y
When overtime is worked due to exigencies or urgencies of the woglj
payment is treated as Direct Labour Cost and charged to Productiop\or‘:ost nit on which the

o
worker is employed. Whereas the amount of premium (extra amount)A
If overtime is spent at the request of the customer, th entire amount (including

overtime premium) is treated as direct wages and should be\ghargé&d to the job.
When the overtime is worked due to lack of capaci general policy of the company, then

the total amount paid is treated as direct wages which |s.§omputed at the estimated rate based on

asic / normal

&t.gd as overhead.

the figures of the previous years w
Overtime worked on account of Rh@ay al conditions such as flood, earth quake, etc.,

should not be charged to cost, but to i
maintained. &

It will thus be see tha(o%time involves payment of increased wages and should be

resorted to only when e essential. The disadvantages attached to overtime working are as

Profit and Loss Account if integrated accounts are

follows :

(@) Itinvolves e %@our cost.

(b) There is se in productivity. Output is usually proportionate to the excess time worked as
effici nc@%\g late hours is diminished.

C) th the evenings increases lighting cost.

éntinuous work for long periods leads to fatigue and defective work.
(e) It fells upon the health of the workers.
(f) Overtime work if not properly distributed among the workers may lead to discontentment.

(g) There is an unusual strain on plant and machinery.




(h) Once overtime is resorted to for some time, the workers take the over time wages as part of
their normal earnings and resist future attempts to discontinue overtime work.

(i) There is a tendency to keep the work pending to be done during overtime period or to
intentionally slow down in order to compel the management to sanction overtime.

It may, however, be said in favour of overtime work that it increases the productiv< capag';y
of the concern as more work is done with the existing resources.

Overtime work is particularly useful in pulling up backlog in product@;g due to

shutdown, breakdown, power failure and such other contingencies.

.’

taken to control the

Though overtime work cannot be completely eliminated, it is essenti:l that proper control should

be exercised to keep it to the minimum. The following steps sha
Overtime:

(@) All overtime work should be duly authorised after investigatingithe necessity thereof.

(b) Overtime cost should be recorded separately and s&aimt the department incurring it.
This will enable proper investigation and planningﬁﬁﬂuction in future.

(c) If overtime tends to be a permanent femd;

ecessity of recruiting more men and shifting

working should be considered.
(d) If overtime is due to lack of plant or \gmnery or other resources, steps may be taken to install
more machines, or to give subco alternatively, to restrict production so as to complete it
within the normal time. Q)
Idle Time °

Idle Time Co's[q&)r ents the wages paid for the time lost during which the worker does not
work, 1.e time fi W&h wages are paid, but no work is done. Idle Time is ‘The difference between
the time for ﬁ%\ﬁ\e employees are paid and the employees time booked against the cost object’.
This ap@ecause due to various causes for which he is not responsible, the worker remains
idle | wages are paid to him. Even for workers who are paid on the basis of output, idle time

8nt may be required to be made.

The causes leading to idle time may be broadly classified into four categories, viz. :-




(i) Normal, inherent or unavoidable idle time: Time lost between the gate and place of work, break
for tea, time interval between one job and another, time for tool setting, adjustment of machine,
etc.

(i)Normal idletime such as waits for jobs, tools, materials or instructions, small power fai
small breakdown of machines and tools, and atmospheric conditions.

(iti) Abnormal idle time such as those arising due to breakdown for considerabls
availability of raw materials, slack supervision, strikes or lock-outs, fire flood, ﬁ?
(iv)Concealed idle time such as manipulation of job breaking, wastage of t@
employment, i.e., unnecessary work like cleaning, grass cutting and ga‘@ng to employ idle men,

under-

and employment of skilled workers on unskilled jobs.
Idle time should not be booked directly to jobs or produc rs because such a practice
not only increases the cost of direct labour, but also vitiat co rison of idle time costs from

time to time. In booking of time, idle or waiting time sh not normally record in the job card

but on separate idle time cards. Separate cards orﬁg\grgmay be provided for recording idle time

according to the causes which give rise to it
Treatment of Idle Time
Idle Time Cost shall be assigne t to the cost object or treated as overheads depending
on the economic feasibility and 5@ ircumstances causing such idle time.
d

Treatment of different categoriés le Time are as below:-

(a) Unavoidable idle 1 ve would be for insignificant periods. In Cost Accounts, this is
allowed to remain m e in the Production Order or Standing Order Number on which the worker
was otherwise e Wd
(b) Normal | ﬁbtme is booked to factory or works overhead. For the purpose of effective control,
each p@le time, i.e., idle time classified according to the causes is allocated to a separate
tan rder Number.
bhormal Idle Time would usually be heavy in amount involves longer periods and would
mostly be beyond the control of the management. Payment for such idle time is not included in
cost and is adjusted through the Costing Profit and Loss Account or included in Profit and Loss

Account, when the accounts are integrated.




(d) Tendency to conceal Idle Time should be discouraged. It is a non-effective time and the
resultant loss of profit due to reduced production activity but also increases the cost per unit of

production as the fixed costs continue to be incurred, irrespective of the reduced quantum of

the workers.

Idle Time Preventive Measures %’

Idle Time may be eliminated or reduced to a large extent by,taking suit able preventive
measures such as (a) proper planning of production in advance, .th&&eﬁ.u’cing imbalances in
production facilities, (b) timely provisioning of materials, (c) re aintenance of machines so

as to avoid breakdown, and (d) careful watch over the labobk util/ization statement. The remedial

measure to be taken will, no doubt, depend upon the parti actor or situation which caused the

Idle Time. \.q

General principles in designing the sy t@ emuneration to Employee

Remuneration is the reward for, r under normal circumstances and is generally based
on either time spent or on the res uced. The former is called “time-related” remuneration
and the latter is known as “Pie@-}e ated” remuneration. The fixation of method of remuneration

In a proper manner is Vi rtant for any organisation because it deals with the most sensitive

item of the input, i.€.Labour.
The gene Wples which should be considered in designing a proper method of labour

remuneratio %ﬁmmarized below:-
(@) The b@%ould be simple to understand and the various segments of the system, should clearly
men i detail.

Re employees should be able to accept the method without any doubts or hesitation in their
mind.
(c) The method should be flexible enough to adopt any changes or variation which may become

inevitable at a later stage.




(d) The method should be able to cut down/stabilize the labour turnover which is often causes due
to unsatisfactory or unacceptable method of remuneration.

(e)The method should assure fair wages to the employees so that both the employers and the
employees can gain by such methods, the former by way of higher productivity and the latteg by
way of higher earnings. v

() Incentive payments should be a part of the method of remuneration with a view the

labour productivity. g?
(g)The method should be able to minimise the level of absentees so that @ wastages in

labour cost can be reduced.
(h) The method should ultimately result into higher production an n%pg ti.c}uality of the output.
Methods of Wage Payment

One of the important components of Labour Cost Co o&e wages system. A system of

wage payment, which takes care of both, i.e. providing ntee of minimum wages as well as
offering incentive to efficient workers helps to 'va;[&)the workers to a great extent. It should
also be remembered that high wages do not ne?qzi mean high labour cost because it may be

observed that due to high wages the productivity of workers is also high and hence the per unit
cost of production is actually decreased=On_the other hand, if low wages are paid, it may result in
lower productivity and hence higg es do not necessarily mean high cost.

t

The following are the varigous me s of payment of wages.

A. Time Rate System
(a) At ordinary IeveTs\

(b) At high wagg@ie

(c) Graduate e Rate.

B.Piece I@

a) Piece Rate.

and

iBce Rate with Guaranteed Day Rates and
(c) Differential Piece Rates.
C.Bonus Systems

(@) Individual Bonus for Direct Workers.




(b) Group Bonus for Direct Workers and

(c) Bonus for Indirect Workers.

D.Indirect Monetary Incentives

(a) Profit Sharing and

(b) Co-partnerships. v

E.Non monetary incentives like job security, social and general welfare, sports, m

etc.
These methods are discussed in the following paragraphs:- QQ
A. Time Rate Method
Time Rate at Ordinary Levels .§'.’

Under this method, rate of payment of wages per hour is fixed ment is made accordingly
on the basis of time worked irrespective of the output produged. ever, overtime is paid as per
the statutory provisions. The main benefit of this method e workers is that they get guarantee
of minimum income irrespective of the output predﬁe.d-l?y them. If a worker is not able to work

due to genuine reasons like Yr
iliness or physical disability, he will ccn\ue get the wages on the basis of time taken for a

particular job.
This method is used in the follow'% ation:-
(a) Where the work requires hi@

(b) Where the outputéserwites® is not quantifiable, i.e. where the output/services cannot be

| and quality is more important than the quantity.
measured. ¢
(c) Where the %@e by one person is dependent upon other person, in other words where a
individual w ﬁ@has no control over the work.
(d) W er@&peed of production is governed by time in process or speed of a machine.
e) he workers are learners or inexperienced.
Rere continuous supervision is not possible.

The main advantage of this method is that the worker is assured of minimum income

irrespective of the output produced. He can focus on quality as there is no monetary incentive for

producing more output. However, the main limitation of this method is that it does not offer any




incentive to the efficient workers. Efficient and inefficient workers are paid at the same rate of
wages and hence there is a possibility that even an efficient worker may become inefficient due to
lack of incentive.
Time Rate at High Wage Levels

This system is a variation of time rate at ordinary levels in the sense that in th%&'
workers are paid at time rate but the rate is much higher than that is normally paid i stry
or area. In this method, the workers are paid according to the time taken a@e IS not
normally allowed. This method offers a very strong incentive to workers an anattract talented
workers in the industry. However, care should be taken that productivity also inCreases; otherwise

° ..’

the cost will go on increasing.

Graduated Time Rate \Q
hingaries according to personal

Under this method payment is made at time rate,

qualities of the workers. The rate also changes with the o cost of living index.
Thus this method is suitable for both employer ahdxmglqyees.

B)Piece Rate System (payment by res IG )
Under this system of wage p t, a fixed rate is paid for each unit produced, job

completed or an operation perforrped NI Hus, payment is made according to the quantity of
work done no consideratiop is @/ﬁ to the time taken by the workers to perform the work.
There are four variants«f thissystem.

a)Straight piece rate %te

b)Taylor’s diffegentiabpiece rate system

c)Merrick’s %p e piece rate system

d)Ga t’s@ nd bonusplan

a)S piece rate system

®Payment is made as per the number of units produced at a fixed rate per unit. Another
method ispiece rate with guaranteed time rate in which the worker is given time rate wages if his
piece ratewages is less than the time rate.

Advantages




1.Wages are linked to output so workers are paid according to their merits.
2.Workers are motivated to increase production to earn more wages.

3.Increased production leads to decreased cost per unit of production and hence profit per unit

increases.
4.1dle time is not paid for and is minimized. C)v
5.The employer knows his exact labour cost and hence can make quotations confi

6.Workers use their tools and machinery with a greater care so that the productié@ot be

held up on account of their defective tools and machinery.

7.Less supervision is required because workers get wages for only th units pr uced

8.Inefficient workers are motivated to become efficient and earn or snay producing more.
Disadvantages

1.Fixing of piece work rate is difficult as low piece rate wi ot‘%ce workers to increase
production. @

2.Quality of output will suffer because workers try tq produce more quickly to earn

More wages.

3.There may not be an effective use of eriaY;:ause of the efforts of workers to increase the
production. Haste makes waste. Thus ill be more wastage of material.

4.When there is increased productieQ\th€re may be increased wastage of

materials, high cost of sup rvis& inspection and high tools cost and hence cost of production

might increase. °

for all units. On r hand, increased production will reduce the labour cost per unit under the

5.Increased producﬁ; wibk not reduce the labour cost per unit because the same rate will be paid

time wage
6.Worke %e the fear of losing wages if they are not able to work due to some reason.
may work for long hours to earn more wages, and thus, may spoil their health.
fkers may work at a very high speed for a few days, earn good wages and then absent
themselves for a few days, upsetting the uniform flow of production.
9.Workers in the habit of producing quality goods will suffer because they will not get any extra

remuneration for good quality.




10.The system will cause discontentment among the slower workers because they are not able to
earn more wages.

This method can be successfully applied when:

1.The work is of a repetitive type.
2.Quantity of output can be measured.
3.Quality of goods can be controlled.

4.1t is possible to fix an equitable and acceptable piece rate C}Q
5.The system is flexible and rates can be adjusted to changes in price Ievel.%

6.Materials, tools and machines are sufficiently available to cope witr;th\eposs le increase in

production.
7.Time cards are maintained so that workers are punctual and re that production may
not slow down.
(b)Taylor’s Differential Piece Rate system
This system was introduced by Taylor, theﬁ%.of)scientific management to encourage the

workers to complete the work within or les t}?&pe tandard time. Taylor advocated two piece
rates, so that if a worker performs the wi r@ or less than the standard time, he is paid a higher
piece rate and if he does not complet:&\uqu within the standard time, he is given a lower piece

llustration2:

Calculate the ‘of workers A and B under Straight Piece-rate System and

Taylor’s Differen’u’a@e -rate System form the following particulars.

Normal rate p S@’_ Rs.1.80

Standard ti &0 runlt 20 seconds

Diffe en@s

09 iece rate below standard

be applied:

of piece rate at or above standard.

Worker A produces 1,300 units per day and worker B produces 1,500 units per day.

¢) Merrick’s Multiple Piece Rate System




This method seeks to make an improvement in the Taylor’s differential piece rate system.
Under this method, three piece rates are applied for workers with different levels of performance.

Wages are paid at ordinary piece rate to those workers whose performance is less than 83% of the

standard output, 110% of the ordinary piece rate is given to workers whose level of performapce
Is between83% and 100% of the standard and 120% of the ordinary piece rate is given t< workers

who produce more than 100% of the standard output
This method is not as harsh as Taylor’s piece rate becuse penalty fo@)rkers is
relatively lower.
Illustration 3:
Calculate the earnings of workers A,B and C under tréi@\{sp‘le.ge rate system and
Merrick’s multiple piece rate system from the following parti S:
Normal rate per hour Rs.1.8
Standard time per unitl minute
Output per day is as follows:
Worker A : 384 units
Worker B : 450units
Worker C : 552 units
Wording hours per day are 8 '&
C) Premium and Bonus Plan QQ
The object of a ‘plan is to increase the production by giving an inducement to the

workers in the formof higher wages for less time worked.
Under a plan, a standard time is fixed for the completion of a specific job or

operation %@ rIy rate plus wages for a certain fraction of the time saved by way of a bonus.
The plan

yC |ng the work in less time.

known as incentive plan because a worker has the incentive to earn more wages

*This system of wage payment is in between the time wage system and piece work system.
In time wage system, worker does not get any reward for the time saved and in piece work system,
the worker gets full payment for time saved whereas in a premium plan both the worker and the

employer share the labour cost of the time saved.




The following are some of the important premium plans.

())Halsey Premium Plan:

Under this method, the worker is given wages for the actual time taken and a bonus equal
to half of wages for time saved. The standard time for doing each job or operation is fixed,_In
practice the bonus may vary from 335 % t066% % of the wages of the time saved. C;?»

Thus if S is the standard time, T the time taken, R the labour rate per hq@ 0 the

percentage of the wages of time saved to be given as bonus, total earnings of th@

)

will be TXR+% (S-T)R Q
Under Halsey-Weir plan, the premium is set at 30% of the time save
Illustration 4:

Rate per hour = Rs.1.50 per hour \Q

Time allowed for job = 20 hours Q

Time taken = 15 hours @

Calculate the total earnings of the worker un he H@Isey Plan. Also find out effective rate

of earnings.

The advantages of the Halsey Premiu Ian e:
It is simple to understand and r K{Iy
1.1t guarantees time wages to wor

2.The wages of time saved, are @y@ by both employers and workers, so it is helpful in
]

simple to calculate.

reducing labour cost p

3.1t motivates efficié%vo ers to work more as there is increasing incentive to efficient
workers. \Q

4.Fixed o ost per unit is reduced with increase in production.

5.Thee %

fixe ead cost per unit. So, he is induced to provide the best possible equipment and

r is able to reduce cost of production by having reduction in labour cost and

ihg conditions.
Disadvantages
1.Quiality of work suffers because workers are in a hurry to save more and more time to get

more and more bonus.




2.Workers criticize thismethod on the ground that the employer gets a share of wages of the

time saved.

(iRowan Plan:

The difference between Halsey plan and Rowan Plan is the calculation of the bonus. Undesgthis
method also the workers are guaranteed the time wages but the bonus is that proport@%
wages of the time taken which the time saved bears to the standard time allowed. Q

Total Earnings=TxXR+S-Tx T xR

Advantages

1.1t guarantees time wages to workers

2.The quality of work does not suffer as they are not induced to ough production as
bonus increases at a decreasing rate at higher levels of effi cy,

3.Labour cost per unit is reduced because wages of time are shared by employer and

employee.

'3
o
4.Fixed overhead cost is reduced with increase@.lction.

Disadvantages \

1.The Rowan plan is criticized by S on the ground that they do not get the full benefit

of the time saved by them as th paid bonus for a portion of the time saved.
2.The Rowan plan suffgrs another drawback that two workers, one very efficient and the

other not so efficiert, mayget the same bonus.
>
A
Q
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it-4 ;erheads
Overheads: - @

Cost related to a cost centen)OT cost unit may be divided into two that is Direct and Indirect
cost. The Indirect cost.i head cost and is the total of indirect material cost, indirect labour
cost, indirect expenses. CIMA defines indirect cost as “expenditure on labour, materials or services
which cannot b wmically identified with a specific salable cost per unit”. Indirect costs are
those costs I%are incurred for the benefit of a number of cost centers or cost units. So any
expe dit@&mer and above prime cost is known as overhead. It is also called ‘burden’,
‘sup tary costs’, ‘on costs’, ‘indirect expenses’.

stfication of Overheads
Overheads can be classified on the following basis:
i) Function-wise classification: Overheads can be divided into the following categories on

functional basis.




(a) Manufacturing or production overheads eg:- indirect materials like lubricants, cotton
wastes, indirect labour like salaries and wages of supervisors, inspectors, storekeepers, indirect

expenses like rent, rates and insurance of factory, power, lighting of factory, welfare expenses like

canteen, medical etc.

(b) Administration overheads eg:- indirect materials like office stationery and DFIM
indirect labour salaries of office clerks, secretaries, accountants, indirect expenses an
insurance of office, lighting heating and cleaning of office, etc. g;

(c) Selling and Distribution overheads eg:- indirect materials Iike%zi es, printing,
stationery, price list, indirect salary of salesmen, agents, travellers, sales managers, indirect
expenses like rent, rates and insurance of showroom, finished got)&k c?wn etc., advertising
expenses, after sales service, discounts, bad debts etc.

i) Behavior-wise classification: Overheads can be classifi ir&e following categories as per
behavior pattern.

(a) Fixed overheads like managerial remwe;xticzrh rent of building, insurance of building,

plant etc. Yr
(b) Variable overheads like direc n@a and direct labour.

(c) Semi-variable overheads li reciation, telephone charges, repair and maintenance

of buildings, machines and equip
iii) Element-wise classificatioR: QVerheads can be classified into the following categories as per
element.
(a) Indirect materials
(b) Indirect lab \
(c) Indirect ﬁﬁees
Alloc ti@d Apportionment of Overhead to Cost Centres (Depart-mentalisation of
Ove

*When all the items are collected properly under suitable account headings, the next step is
allocation and apportionment of such expenses to cost centres. This is also known as

departmentalization or primary distribution of overhead.




A factory is administratively divided into different departments like Manufacturing or
Producing department, Service department, partly producing departments.
Allocation of Overhead Expenses

Allocation is the process of identification of overheads with cost centres. An expense which
is directly identifiable with a specific cost centre is allocated to that centre. Thus it is all tm\i&?
a whole item of cost to a cost centre or cost unit. For example the total overtime w
of a department should be charged to that department. The electricity charges @
separate meters are there should be charged to that particular department o
Apportionment of Overhead Expenses

Cost apportionment is the allotment of proportions of cost to c h tres or cost units. If a
cost is incurred for two or more divisions or departments then it i \% portioned to the different
departments on the basis of benefit received by them. Co oﬁms of overheads are rent and

rates, depreciation, repairs and maintenance, lighting, wo anager’s salary etc.

Basis of Apportionment O
Suitable bases have to be found o t@ortioning the items of overhead cost to
r

production and service departments and then for’feapportionment of service departments costs to
other service and production departme \Lhe basis selected should be correlated to the expenses
and the expense should be mea by the basis. This process of distribution of common
expenses over the depart nts@some equitable basis is known as ‘Primary Distribution’. The
following are the mai ‘bverhead apportionment utilized in manufacturing concerns:

Direct Allocation: Upderdirect allocation, overheads are directly allocated to the department for
which it is incu &mple overtime premium of workers engaged in a particular department,

power rep@n particular department etc
(i)@'e t Labour/Machine Hours. Under this basis, overhead expenses are distributed to
ari&vepartments in the ratio of total number of labour or machine hours worked in each
%rl‘ment. Majority of general overhead items are apportioned on this basis.
(if) Value of materials passing through cost centres. This basis is adopted for expenses

associated with material such as material handling expenses.




(iii) Direct wages. Expenses which are booked with the amounts of wages eg:- worker’s
insurance, their contribution to provident fund, worker’s compensation etc. are distributed amongst

the departments in the ratio of wages.

Illustrationl :
The Modern Company is divided into four departments: A, B and C are pfo ucE;g
departments, and D is a service departments. The actual costs for a period ar S:

Rent Rs.1000 Repairs to Plant Rs.%
Supervision  Rs.1500 Fire Insurance in respect of Stock %
Depreciation of Plant Rs.450 Power 5.900

Light Rs.120 Employers’ liability for in ur%%»' 35.150

The following information is available in respect of the four ents;

Dept.A Dept.B, N, Dept.C | Dept.D
Area (sgq.mtrs) ,100 900 500

Number of Employees ) 15 10 5

Total Wages (Rs.) 4,000 3,000 2,000
Value of Plant (Rs.) 18,000 12,000
Value of stock (Rs.) 9,000 6,000
H.P. of Plant 18 12

Apportion the costs to t vaNst departments on the most equitable basis.

Solution:

Overheads Distribution Summary

Basis Total Product Departments Service

of Amount A B c Department

apportionment Rs. Rs Rs Rs D
Rs.

Floor Area Rs.1000




Supervision No. of Rs.1500

Employees

Depreciation of Plant Value Rs.450
Plant
Light Floor Area Rs.120 33
Repairs to Plant Plant Value Rs.600 180
Fire Insurance in Stock Value Rs.500 150
respect of Stock
Power HP. Of Plant Rs.900 2.7&

Employers’ liability | No. of Rs.150 60 @\= 30 15

for insurance Employees Q
Total 5,220 @.1, 38 1,072 500

Re-apportionment of Service Department Costs to Pro\dy tion Departments

Service department costs are to be reapportioged o the production departments or the cost

centres where production is going on. Thm re-apportionment of overhead expenses is

known as ‘Service Distribution’. The fqllewing is a list of the bases of apportionment which may
against

be accepted for the service departme

Service Department CB.SQ\’ Basis of Apportionment
1. Maintenance Department \J 1.Hours worked for each department
2. Payroll or time-keeft artment 2.Total labour or Machine hours or number of
3. Store keepin d(; tment employees in each department
4.Emp|oyment§&nnel epartment. | 3.no. of requisitions or value of materials of
5. Purcha rtment each department.
6.\Welfaxg, ambulance, canteen service, | 4. Rate of labour turnover or number of
.(e&ﬁ room expenses. employees in each department.
L@Jilding service department 5.no. of purchase orders or value of materials
8. Internal transport service or 6. No. of employees in each department.

overhead crane service 7. Relative are in each department

9. Transport Department




10. Power House (Electric power cost) | 8. Weight, value graded product handled,
weight and distance travelled.

9. crane hours, truck hours, truck mileage,
truck tonnage, truck tonne-hours, tonnage
handled, number of packages. < N E'

10. wattage, horse power, horse
machine hours, number of electric pgin %

The following are the various methods of re-distribution of service departm ostSto production

departments.
1. Direct re-distribution method .§°.’
2. Step distribution method
3. Reciprocal Services method &
a. Simultaneous Equation Method
b. Repeated Distribution Method

g
c. Trial and Error Method Yy
1. Direct re-distribution method ( )

Under this method, the costs of ice departments are directly apportioned to production
departments without taking into ¢ ation any service from one service department to another
service department. Thus, ro@pportionment cannot be done on the assumption that service
departments do not s “other and as a result the production departments may either be
overcharged or underchabged. The share of each service department cannot be ascertained
accurately for wpurposes. Budget for each department cannot be prepared thoroughly.
Therefore, ent Overhead rates cannot be ascertained correctly.

Ilus at@z:
n Engineering factory, the following particulars have been collected for the three
ths’ period ended on 31t March, 2007. You are required to prepare Production
Overheads Distribution Summary showing clearly the basis of apportionment where

necessary.




Production Departments Service
Departments

A B C D E
Direct Wages : 2000 3000 4000 1000 2000

Direct Material : 1000 2000 2000 1500 15 3 v
Staff : 100 150 150
Electricity : 4000 3000 2000
LightPoints No. 10 16 4
Asset Value Rs. 60000 40000 30000
Area Occupied Sq.m. 150 250

The expenses for the period were:
Motive power Rs.550; Lighting Power Rs.100; Sto &rheads Rs.400; Amenities to
Staff Rs.1500; Depreciation Rs.15,000; Repalrs a Maintenance Rs.3,000; General
Overheads Rs.6000; and Rent and Taxes Rs.
Apportion the expenses of servict(;H ent E in proportion of 3:3:4 and those of
to

service department D in the ratio of 3& epartments A, B and C respectively.

>

Solution: c)

Production OverhadsAKist bution Summary For The Quarter Ending 31° March, 2007
(&\‘\y Production Departments Service Total

Departments
A D E
»Dire%ages 1000 2000

ct Material 1500 1500
Motive Power @ 5p.per Kwh 50 50
Lighting Power @ Rs.2.50per 15 10
Point




Stores Overhead @ 5% of
Direct Material
Amenities to staff @ Rs.3 per

employee
Depreciation @ 10% of the

value of asset.

Repairs and maintenance @
2% of value
General Overheads @ 50% of

Direct

Wages
Rent and Taxes @Re.0.50 per 125

sg.meter

Total 7,‘%7&\
Dept.E (3:3:4) %ﬂi
Depy.D (3:1:1) < ) 903

Total

O

2. Step Distribution

[}
Under thii\g(@d, the cost of most serviceable department is first apportioned to other
{

service departmh&
cost is apmclb'éd and this process goes on till the cost of the last service department is

apr%vﬁd) Thus, the cost of last service department is apportioned only to production
a

ep ts.
o
ustration 3:

A manufacturing company has two Production Departments, P1 and P2 and three

d production departments. The next service department is taken up and its

Service Departments, Time-keeping, Stores and Maintenance. The Departmental Summary

showed the following expenses for July, 2007.




Production Departments

Service Departments (in order of their importance)

P1
Rs.

P2
Rs.

S1
(Time-keeping)
Rs.

S2
(Stores)
Rs.

S3

(Maintenance)

Rs.

16,000

10,000

4,000

5,000

3,000

The other information relating to departments were:

Service Departments

Pro

N
C

S1
(Time-
keeping)

Rs.

S2
(Stores)

S3

(Maintenanc

P1

I@:ments

P2
Rs.

No. of Stores

requisitions

Machine Hours

No. of Employees -

/9

\J
L]
SOLUTION:

Department A

'}ger Primary

istribution System

\
S1 (Time : Cb‘

4000

(-4000)

5000

800

(-5800)

kﬂfg)
(32\@ res)
s8’

(Maintenance)

3000

400

696

(-4096)

P1Rs.

16000

1600

2784

2458




P2 Rs. 10000
38,000

Note: basis of apportionment

(a) Time-keeping —No. of employees (ie. 2:1:4:3)

(b) Stores—No. of stores requisitions ( ie. 3:12:10) C)v

(c) Maintenance- Machine Hours (ie. 3:2) Q

The most important limitation of this method is that the cost of one service cen@ r service
e

cost centres is ignored and thus the cost of individual cost centres are not trQ Cted.

. . ° '5
3.Reciprocal Services Method %’

In order to avoid the limitation of Step Method, this is adopted. This method
recognizes the fact that if a given department receives ice from another department, the
department receiving such service should be charged. If epartments provide service to each

other, each department should be charged for the'\:ﬁ.fqarvices rendered by the other. There are

three methods available for dealing with intfr— ige fepartmental transfer:

a. Simultaneous Equation Method
b. Repeated Distribution Method \
c. Trial and Error Method '&
(a) Simultaneous Equati mq&
Under this method, th it of the service departments are ascertained first with the help of
simultaneous equatl'oﬁt se are then redistributed to production departments on the basis of
given percentag
[llustration %@)mpany has three production departments and two service departments, and for
a period @%partmental distribution summary has the following totals.
Rs.

uttion Departments:

P1-Rs.800; P2-Rs.700 and P3-Rs.500

Service Departments:
S1-Rs.234;S2-Rs.300




The expenses of the service departments are charged out on a percentage basis as foll%

P1 P2 P3 S1

PN
Service Department S1 20% 40% 30% - 1%)
Service Department S2 40% 20% 20% 20%

Prepare a statement showmg the apportlonment of two servme\de partments expenses to

production departments by Simultaneous Equation Method. \®

Solution:

Let x = total overheads of department S1

y = total overheads of department S2

Then, \.q
X=Rs.234+. 2y Yy
y=Rs.300+. 1x C)
Rearranging and multiplying to elimi \ec,imals;
10x-2y=Rs.2,340 Q®
_x+10y=Rs.3,000 ) Q
Multiplying equation ( nd add result to (2), we get

49x=Rs.14,700 \
x=Rs.300

Substitutin@b&alue in equation (1), we get

V2R
; that now remains to be done is to take these values x=Rs.300 and y=Rs.330 and

rtion them on the basis of the agreed percentage to the three production departments; thus:

Total P1 P2 P3
Rs. Rs. Rs. Rs.

Per distribution summary 2000




Service department S1(90% of Rs. 300) 270 60 120 90
Service department S2 (80% of Rs. 330) 264 132 66 66

This method is recommended in more than two service departments if the data is processed

with computers and in two service departments only where the data is processed manually. v

(b) Repeated Distribution Method Q
Under this method, the totals are shown in the departmental distribution su e put
out in a line, and then the service department totals are exhausted in turn repeatediyaccording to
the agreed percentages until the figures become too small to matter. Q
(c) Trial and Error Method

Under this method, the cost of one service department is a o.rl‘l%d' t?another centre. The
cost of another centre plus the share received from the first centresis\ggain apportioned to the first

cost centre and this process is repeated till the balancing fi becemes negligible.

Absorption of overhead )
Absorption means the distribution of@erhead expenses allotted to a particular

department over the units produced in t@; ment. Overhead absorption is accomplished by
overhead rates.

Methods of Absorption of Man ing Overhead
The following are t m@nethods of absorption of manufacturing or factory overheads.
(A) Direct Material C 5d. Under this method percentage of factory expenses to value of

direct materials (£n§ eddin production is calculated to absorb manufacturing overheads.
~

Overhead Rate =Production Overhead Expenses (Budgeted)

Anticipated Direct Material Cost

%5 factory the anticipated cost of direct material is Rs. 4,00,000 and the over Head budgeted
expenses are Rs. 1,00,000, then the overhead rate will be 25% ie.( Rs.1,00,000 +Rs.4,00,000) of the
materials used. It is assumed that relationship between materials and factory expenses will not change.

This method is simple and can be adopted under the following circumstances:




(i)Where the proportion of overheads to the total cost is significant.

(i))Where the prices of materials are stable.

(ili)Where the output is uniform ie. Only one kind of article is produced.

(B)Direct Labour Cost (or Direct Wages) Method. This is a simple and easy method and widely
used in most of the concerns. The overhead rate is calculated as under: C\:&»

FORMULA Overhead Rate =Production Overhead Expenses 63

Direct Labour Cost %
If from past experience, the percentage of factory expenses to direct wages is 50%, then the

factory expenses in the next year is taken as 50% of the direct Wages..'l% thod is suitable under

the following situations: \Q

(i)Where direct labour constitutes a major proportion of theitotal c@st of production.

I.
(i)Where production is uniform.

(iii)Where labour employed and types of work p@:ﬂn)fd)are uniform.
(iv)Where the ratio of skilled and unskilled lab@®sis Constant.

(V)Where there are no variations in the rates ofm., the rates of pay and the methods are the
same for the majority of the workers i concern.

In some concerns a separate rate i ated for the fringe benefits and applied on the basis of
direct labour cost. Q)

(c)Prime Cost Method s method the recovery rate is calculated dividing the budgeted

overhead expenses b)t\he gregate of direct materials and direct labour cost of all the products

of a cost centre.&

o
F(@ LA Overhead Recovery Rate =Production Overhead Expenses
Anticipated Direct Materials

and Direct Labour Cost




Suppose if the budgeted overheads are Rs.50,000 and the estimated values of direct materials and
direct labour are Rs.30,000 and Rs.20,000, then overhead recovery rate will be 100% that is
50000*100

30000+20000

(d)Direct Labour (or Production) Hour Method. This rate is obtained by dividing the@gy
expenses by the aggregate of the productive hours of direct workers. Q

P

FORMULA Overhead rate =Production Overhead Expenses &
Direct Labour Hours

o§..’
If in a particular period the overhead expenses are Rs.5 nd direct labour hours are
1,00,000, then overhead labour rate will be Re.0.50 (i.e., Rs.38,000%1,00,000). This rate is suitable

where:

(i) The production is done using more of labour a ess.igchnology IS used.

(i))It is desired to taken into consideration the '[Yuk or.
(iii)The rate may not be affected by tre\eth of wage payment or the grade or the rate of
workers. @

Illustration 5: From the fo owi@)articulars find out “Direct Labour Rate”.

(a) Total number of la orking in the department. 400

(b) Total working days in ayear 300
(c) Number of Wé@@ ours per day 8

(d) Total de ntal overheads per year Rs.1,82,400

(e) Norm@f idle time allowed. 5%
Eo&."

° Calculation of Direct labour rate for departmental overheads
Total working days in a year 300
Number of working hours per day 8
Total working hours available per worker per year 2,400 (300 x 8)




Less: normal idle time allowed (5% of 2,400hrs) 120
Effective working hours per worker per year (2400-120) 2,280
Number of workers working in the department 400

Total effective working hours in the department (2280 x 400)  9,12,000
Total departmental overheads per year Rs.1,82,000 < El

Direct Labour Rate for absorption of overheads per hour Re.0.20 6;

(Rs.182,400+9,12,000hrs=Rs.0.20) %

(e)Machine Hour Rate. Machine hour rate is the cost of running a machine per hour. It is one of
the methods of absorbing factory expenses to production. There @%iﬁwilariw between the
machine hour and the direct labour hour rate methods, in so far agQ;

The choice of one or the other method depends on the actualigircyl

e based on the time factor.
tances of the individual case.
In respect of departments or operations, in which machine ominate and the operators perform
a relatively a passive part, the machine hour rate isqgiappropriate. This is generally the case for
operations or processes performed by costly, machiags\Wwhich are automatic or semi-automatic and
where operators are needed merely for f dinm tending them rather than for regulating the
quality or quantity of their output. | cases, the machine hour rate method alone can be
depended on to correctly apporti manufacturing overhead expenses to different items of
production. What is neede fo@uting the machine hour rate is to divide overhead expenses
for a specific machine of machines for a period by the operating hours of the machine or

the group of machin'eQ)r e period. It is calculated as follows:
A

Machine hour rat&=2Amount of overheads

Machine hours during a given period
The Il@g‘steps are required to be taken for the calculation of machine hour rate:
Ea

chine or group of machine should be treated as a cost centre.

& estimated overhead expenses for the period should be determined for each machine or group
of machines.
3) Overheads relating to a machine are divided into two parts i.e., fixed or standing charges and

variable or machine expenses.




4) Standing charges are estimated for a period for every machine and the amount so estimated is
divided by the total number of normal working hours of the machine during that period in order to
calculate an hourly rate for fixed charges. For machine expenses, an hourly rate is calculated for
each item of expenses separately by dividing the expenses by the normal working hours.

5) Total of standing charges and machines expenses rates will give the ordinary machine m
rate. Some of the bases which may be adopted for apportioning the different expen

purpose of calculation of machine hour rate are given below. C}

Some of the expenses and the basis of apportionment are given below. %

2.Heating and Lighting-The number of points used plus cost of s ec.i Ting or heating for any

1.Rent and Rates-Floor area occupied by each machine including the ;%;undi g space.
9

individual machine, alternatively according to floor area occupi ch machine.
3.Supervision—estimated time devoted by the supervisory staff tq &ch machine.
4.Lubricating Oil and Consumable Stores—On the basis 0 t experience.
5.Insurance—Insurable value of each machine 9

6.Miscellaneous Expenses—Equitable basis depeneing\upon facts.
Machine Expenses

1. Depreciation —cost of machine inc cost of stand- by equipment such as spare motors,
switchgears etc., less residual val d over its working life.

2. Power— Actual consum ionQSj own by meter readings or estimated consumption ascertained
from past experience. °

3. Repairs—Cost of repairs'spread over its working life.

lllustratio \Q
A )\‘

no:

m@s purchased for cash at Rs.9,200. Its working life is estimated to be 18,000 hours
after hi@ts crap value is estimated at Rs.200. it is assumed from past experience that:

)7 %’!

#iYRhe repair charges will be Rs.1,800 during the whole period of life of the machine.

chine will work for 1,800 hours annually.

(iii) The power consumption will be 5 units per hour at 6 paisa per unit.

(iv)Other annual standing charges are estimated to be:




(a)Rent of department (machine occupies 1/5" of total space) 780

(b) Light (12 points in the department-2 points engage d in the machine) 288
(c)Foreman’s salary (1/4™ of his time is occupied in the machine) 6000

(d) Insurance premium (fire) for machinery 36

(e)Cotton waste 60

Find out the machine hour rate on the basis of above data for allocation of the wor@ es to

all jobs for which the machine is used. 6
Solution:

Calculation of machine hour rate

Per Hour
Rs.

Standing Charges:
Rent[ Rs.780 +Rs.5]
Light [ 2/12 x Rs.288]
Insurance Charges

Cotton waste

S

Total S and@g)garges

Hourly rate of standingichafgeS  Rs.1800 1.00

\ 1800
Machine Expe & 0.50
Depreciati ,200- Rs.200)+18,000 = Rs.9000+18,000 0.06
Rep 'rs@ aintenance (Rs.1,080+18,000) 0.30
Po 06 x 5)
Q [

~ Machine Hour Rate 1.86

(f) Rate Per Unit of Production. This method is simple, direct and easy. It is suitable for mining
and other extractive industries, foundries and brick laying industries, where the output is measured

in convenient physical units like number, weight, volume etc. the rate is calculated as under:




Overhead Rate= Overhead expenses (budgeted)

Budgeted production

For example, if the overhead expenses (budgeted) are Rs. 30,000 and the budgeted

only one item of product or a few sizes, qualities or grades of the same product. If 1% :

item are produced, then it is essential to express dissimilar units against a co eriominator

on weightage or point basis. %
(g)Sale Price Method: Under this method, budgeted overhead expenses are.’ divided by the sale
price of units of production in order to calculate the overhead rgcov%fe. The formula is sale

price of units of production in order to calculate the overhead re‘?»s rate, the formula is

Overhead Recovery Rate=Budgeted oWetheathexpenses

Sale val units of production

The method is more suitable for apporti ofeadministration, selling and distribution,
research, development and design costs of fr \

. Jt can also be used with advantage for the
appropriation of joint products costs.
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Unit-5
Introduction Q
The term ‘costinglr %to the techniques and processes of determining costs of a product

manufactured or ser'v;%% dered. The first stage in cost accounting is to ascertain the cost of the

product offered \%y

particular % ascertalnlng the cost. The methods of costing are applied in various business

units to a%r

ob in different types of businesses.

services provided. In order to do the same, it is necessary to follow a

in the cost of product or service offered. Different methods of costing are required

® For example, costing methods used in a manufacturing business will differ from the
methods used in a business that is offering services. Even in a manufacturing business, some
business units may have production in a continuous process, i.e. output of a process is an input of

the Subsequent process and so on, while in some businesses production is done according to the




requirements of customers and hence each job is different from the other one. Different methods
of costing are used to suit these diverse requirements. These methods of costing are discussed in

detail in this chapter.

Methods of Costing
As mentioned in the above paragraph, the methods of costing are used to ascertain t &

of product or service offered by a business organization. There are two princi s of
costing. These methods are as follows C}

1] Job Costing Q

I1] Process Costing
Other methods of costing are the variations of these two principle met%ﬁ]’e variations of these

methods of costing are as follows.
11 Job Costing: Batch Costing, Contract Costing, M %;tmg

[1] Process Costing: Unit or Single Output Costing; rating Costing, Operation Costing

The Job Costing and its variations
1. Job Costing:

This method of costing is used in J@g Industries where the production is as per

the requirements of the customer. In rder industries, the production is not on continuous

basis, rather it is only when order stomers is received and that too as per the specifications
of the customers. Consequ ntIerg job can be different from the other one. Method used in such
type of business organizatiorns,is the Job Costing or Job Order Costing.

Job Cost Sheet.
program o@er cost objective that is distinguishable clearly and unique in terms of materials

The objective gf this'method of costing is to work out the cost of each job by preparing the

N&w be a product, unit, batch, sales order, project, contract, service, specific

and o he@v es used. The cost of completed job will be the materials used for the job, the direct

labo oyed for the same and the production overheads and other overheads if any charged to
job.

The following are the features of job costing.

1. It is a specific order costing




2. A job is carried out or a product is produced is produced to meet the specific requirements
of the order

3. Job costing enables a business to ascertain the cost of a job on the basis of which quotation

for the job may be given.
4. While computing the cost, direct costs are charged to the job directly as they are(race%;e

to the job. Indirect expenses i.e. overheads are charged to the job on some suitable @
5. Each job completed may be different from other jobs and hence it |€1§ to have
IS

standardization of controls and therefore more detailed supervision and cor@ cessary.

6. At the end of the accounting period, work in progress may or may not’exist.
Advantages of Job Costing §'
1. Accurate information is available regarding the cost of‘%% completed and the profits

generated from the same. °
2. Proper records are maintained regarding the ial, labor and overheads so that a

costing system is built up O

and analysis.

3. Useful cost data is generated froE the ‘peint\of view of management for proper control

4. Performance analysis with otherNabs is possible by comparing the data of various jobs.
However it should be remembere ch job completed may be different from the other.

5. If standard costing systeyTr is in use, the actual cost of job can be compared with the
standard to find out a Jjon between the two.

6. Some jobs are priced on the basis of cost plus basis. In such cases, a profit margin is
added in the cos}@v ob. In such situation, a customer will be willing to pay the price if the cost

data is relgibo
beco GS@I le.

imitgtions of Job Costing

costing helps in maintaining this reliability and the data made available

®1. It is said that it is too time consuming and requires detailed record keeping. This makes
the method more expensive.

2. Record keeping for different jobs may prove complicated.




3. Inefficiencies of the organization may be charged to a job though it may not be
responsible for the same.
Methodology used in Job Costing

The objective of job costing is to ascertain the cost of a job that is produced as pegthe

and present it in the form of job cost sheet for showing various types of costs. V

recorded in the following manner.

material. The cost of such material consumed is the direct materia a&
| requ

identifiable with the job and is charged directly. \Q
ate%

The source document for ascertaining this cost is th

1. Direct Material Costs: %
Material used during the production process of a job and identified with the job is the direct
D.i’rect material cost is
isition slip from which
the quantity of material consumed can be worked out. of the same can be worked out

according to any method of pricing of the issueﬁﬁf.ire)t in first out, last in first out or average

method as per the policy of the organizatio z.,
The actual material cost can be c@ with standard cost to find out any variations

between the two. However, as each jfb& be different from the other, standardization is difficult

but efforts can be made for the sa@
2. Direct Labor Cost: °
This cost is a'ls&id tifiable with a particular job and can be worked out with the help of
‘Job Time Tickq@ich is a record of time spent by a worker on a particular job. The ‘job time
ticket’ has@rd of starting time and completion time of the job and the time required for the
0

jobc b@

ime by the hourly rate. Here also standards can be set for the time as well as the rate so that

ed out easily from the same. Calculation of wages can be done by multiplying the

arison between the standard cost and actual cost can be very useful.

3. Direct Expenses:




Direct expenses are chargeable directly to the concerned job. The invoices or any other
document can be marked with the number of job and thus the amount of direct expenses can be

ascertained.

4. Overheads:
This is really a challenging task as the overheads are all indirect expenses incurrgd om
job. Because of their nature, overheads cannot be identified with the job an
apportioned to a particular job on some suitable basis. Pre determined rates@ rption of
overheads are generally used for charging the overheads. This is done on the%is the budgeted
data. If the predetermined rates are used, under/over absorption of @e&}d Is inevitable and
¢ [}

hence rectification of the same becomes necessary.

5. Work in Progress: \®

On the completion of a job, the total cost is worked b&ing the overhead expenses in
the direct cost. In other word, the overheads are added prime cost. The cost sheet is then
marked as ‘completed’ and proper entries are madgﬁ‘ghg finished goods ledger. If a job remains
incomplete at the end of an accounting period, t cost incurred on the same becomes the cost
of work in progress. The work in progre s@mf the accounting period becomes the closing
work in progress and the same becom opening work in progress at the beginning of the next
accounting period. A separate acc r work in progress is maintained.

9 Format of Job Cost Sheet

The format of job cﬁgﬁhe is given below.

XYZ LTD. V

JOB ORD@T SHEET

Customefmvaice No. Selling Price Per Unit: Cost Per Unit:
%&, Job Order No: Total Cost

utt Description

Particulars Dates and Ref. No. | Total Amount [ Rs] | Per Unit [Rs]




Direct Materials: Dept |
Dept 11
Dept |1
Total

Direct Labor

Overheads
Total Costs

Ilustration :1
From the following particulars calculate the cost of Jo% and price for the job

to give a profit of 25% on the selling price.
1. Material : Rs. 6820 Q
2. Wage details:
Department X : 60 hrs @ Rs. 3 p
Y :50 hrs @ Rs. eﬁx
Z :30hrs @ er hr
3. The variable Overheads a %&U
Department X : Rs Qr 5000 hrs
Y CE; 2000 for 2000 hrs
:’Rs. 2000 for 500 hrs

The total fixed expé es amounted to Rs. 20,000 for 10,000 working hours. Calculate the cost
of Job No. 505 )% ice for the job to give a profit of 25% on selling price

Solution: ch

Job s@eet No. 505
art

erial

Wage details:
Department X : 60x3 =180
Y : 50x3 =150




Z : 30x5=150

Prime Cost

variable Overheads are as follows:
Department X : 60x1=60
(5000 +5000)=1
Y :50x2=100
(4000~ 2000)=2
Z :30x4=120
(2000+500)=4

Fixed OH 140 x 2 = 280(60+50+30 X 2)

\. .3
Total cost
P

Profit 25% on selling price ie 1/3 of coit 860,¥1/3 2,620

Selling price :é\\ 10,480
Q.

ONTRACT COSTING

Meaning ¢
It is a special form>ef job costing and it is the most appropriate method to be adopted in
Ing and construction work, civil engineering, mechanical fabrication and

such industries KF’
ship buildi@t er words, it is a form of specific order costing which applies where the work

is un ert@n

COStIng"

o customer’s requirements and each order of long duration as compared to job

°It is also known as terminal costing. The official CIMA terminology defines contract
costing as ““ a form of specific order costing in which costs are attributed to individual contracts.”
Basic features:

1. Each contract itself a cost unit.




2. Work is executed at customers site
3. The existence of sub contract

4. Most of the expenses incurred upon the contracts are direct.

5. Cost control is very difficult in contract costing.

Types of contracts C)v
Generally there are three types of contracts:

1. Fixed price contracts: Under these contracts both parties agree to a fixed con@.

2. Fixed price contract with Escalation clause %

3. Cost plus contract: Under this contract no fixed price could be settled for a contract.

Contract Account .?\\'.’

A contract account is a nominal account in nature. It is \%ed to find out the cost of
contract and to know profit or loss made on the contract. A t‘rg;r may undertake a number of
contracts at a time. For each contract a separate account is ed. In the contract account all direct

cost such as material, labour and other direct expeois. k‘curred during an accounting period are
debited and the indirect expenses are apportio n equitable basis. The differences between
the two sides are known as Notional profi@ml loss.

SPECIAL TERMS IN CONTRACT&&QOUNT

1. Work in Progress:
It is the unfinished ont@:}g

work certified and amowqt rk uncertified. Work in progress is an asset, shown in the balance

the end of the accounting period and it includes amount of

sheet by deducting ﬂ% m any advance received from the contractee.

2. Work certifi@
The @ ue of work completed as certified by the architect is known as ‘work certified’.

In th ca@ ontracts of long duration, the amount payable by the customer to the contractor is

ase e sales value of work done as certified by the architect. At the end of the financial year,
tal sales value of work done and certified by the architect is credited to the contract account.
3. Work Uncertified:




It means work which has been carried out by the contractor but has not been certified by the
architect. Sometimes, work which is complete remains uncertified at the end of the financial year.
The reasons for the same may be
a. Work not sufficient enough to be certified
b. Work has not reached the stipulated stage to qualify for certification C)v
It is always valued at cost and credited to the contract account. Q

4. Retention money:
Regardless of the amount of work certified, the contractor is paid a :@ ercentage of

the same and the balance is held or retained by the contractee. This is because of the fact that the
contractee has to safe guard himself against any contingency arisin.kfp'tne non fulfillment of
the terms of the contract by the contractor. The unpaid balanc rk certified or the amount
held back or retained by the contractee is known as ‘retentighym

5. Sub contract:

Sometimes the contractor enters into contfac%vxiitkg another contractor to give a portion of

work undertaken by him. In such cases the o?f rmed by the subcontractor s forms a direct
charge to the contract concerned. Sub c nétj t will be shown on the debit side of the contract
account. K
6. Escalation clause: @

This is clause which is provided in the contract to cover up any increase in the price of the

contract due to increasey frices of raw material or labour or in the utilization of any other
factors of production, If material and labour utilization exceeds a particular limit, the customer
agrees to bear th@}onal cost occasioned by excessive utilization. Here, the contractor has to
satisfy the ¢ r that excessive utilization is not the result of decreased efficiency.
@éCIMEN FORM OF CONTRACT ACCOUNT (Unfinished contract)
% Contract A/C

%ﬂaterials By work in progress:

Work certified  xxx

Work uncertified xxx




To Labour By material returned

To Plant By plant XXX

To Overheads Less: Depreciation XXX

To cost of sub contracts Q E )

To Notional Profit c/d(B/F) By material lying at site

By Notional profit B/d

To Profit and Loss A/C
To WIP (B/F) . \ N
N [

QDY
Y

Treatment of Plant and Machinery: @
One of the distinguishing features of a contract is the use of special plant and machinery.

The cost of these is capital expenditure, but yet, m\e%ag@ of these should be reflected in the form
of depreciation. There are two distinct mem

arging depreciation.

the contract account is debited with the full value

1. At the time of issue of plant to K’a
of the plant. At the end of the perio ccount is credited with the depreciated value. This

method is used when plant and m@ ry is used at the contract site for a long period.

2. In the second method, ‘eentract account is debited with an hourly rate of depreciation for
the number of hours. t t s.used on the contract. A cost centre is set up for each machine. An
estimate is made,i e of the cost such as maintenance, depreciation, driver’s wage etc to be
incurred. The % his cost is divided by the number of hours that the machine is expected to

be used.

Profi r%complete Contract:
the case of a small contract extending over the financial period, profit or loss on the same

[
%be ascertained by crediting it with the contract price due by the contractee. This procedure
cannot be adopted in the case of contracts extending beyond the accounting period, and taking a
long time for completion. If there is any profit upon the incomplete contract, it cannot be taken as

actual profit. The profit upon the incomplete contract is called notional profit.




For the purpose of determining the amount of profit to be transferred to profit and loss
account and making provision for future contingencies, the following guidelines may be kept in
mind.

1. When the work has not reasonably advanced (1/4 or less than %): - No profit sheuld
be taken to the credit of p/L account in the case of contracts which have just commen@%

small portion of the work is complete. Q
2. Where the work is complete more than % but less than Y2 of cont@ e: In this
case 1/3 of the notional profit as reduced by the percentage of cash receina

profit and loss account. The usual formula is

e credited to

)

Work certified
The balance of notional profit shall be kept as reserve till the ¢
3. If the contract completed is more than 1/@» an 90%: Here 2/3rd of the

notional profit should be taken to profit and loss account.

Notional profit x1/3 x —3hrecelved %
A

Cash received ° ’3

Notional profit x2/3 x Work cortifiod

The balance of notional profit shall be tra‘sferrez to work in progress as reserve. It is to be noted
contract is completed, work certified should be

that in order to find out how much portio
compared with contract price.

4. If the contract is nearing c ion: Here, estimated profit may be ascertained by deducting
the total cost of contract to tejp%s estimated additional expenses to complete the contract , from

the contract price. Ibis ¢ ated by using the following formula

. Cash received

Estimate

Example %%
fol

T owing was the expenditure on a contract for Rs. 6,00,000.

5:;6&"1,20,000

Contract price

es 1,64,000
Plant 20,000
Overheads 8,600




Cash received on account of the contract was Rs. 2,40,000 being 80% of the work certified.

The Value of material in hand was Rs. 10,000. The plant has undergone 20% depreciation.

Solution: 6:

Contract A/C %
To material 1,20,000 | By material in hand \ 0,000
° e.\
Yy

To Wages 1,64,000 | By plant on hand AN 16,000
To Plant 20,000 | By work certified " 3,00,000
(2,40,000%10 &
To Overheads 8,600 N
To Notional Profit 13,400 \.'}
3,26,000-1 ?’r ) 3,26,000
\,) )

To Profit and Loss A/C 7, ~By notional profit b/d 13,400

To Balance c/d

Fadb
\fLS, 400 13, 400
o

Example 3

XY Ltd ook a contract, the following was the expenditure on a contract for Rs.

6,00,000.

Mq%@ued to contract Rs. 1,02,000

ant tssued for contract Rs. 30000
o
es Rs.1,62,000

Other expenses Rs. 10,000
Cash received on account of contract up to 31st march 2011 amounted to Rs. 2,56,000

being 80% of work certified. Of the plant and material charged to the contract plant costing




Rs. 3000 and material costing Rs. 4000/ were lost. On Ist March 2011, Plant which cost Rs.
2,000 was returned to the store, the cost of work done but not certified was Rs. 3000 and
material costing Rs. 2,500 were in hand on site. Provide 10% depreciation on plant, reserve

1/3 of profit received and prepare contract account from the above particulars.

Solution:
Contract A/C

To material 1,02,000 By work in progress: d
Work certified
256000%100/80 )

\g\
=3,20,000

Work uncemtifi =
3,000
"

\.

To Wages 1,62,000 By Account

Plant lost 3,000
Material lost 4,000

To Plant By plant returned: 2,000
Less: depreciation 200

By material in hand
By plant at site(30000-3000-
2000)

25,000 22,500
Less: depr 2,500
3,56,800 3,56,800
To P/L Account 28,160 By notional profit B/d 52,800
52800x2/3x80/100
Reserve BF 24,640




WORK IN PROGRESS ACCOUNT
To contract A/c 3,23,000 By Contract A/c (reserve)

By Balance c/d

3,23,000
o§..’
\Q'
PROCESS COSTIN °

Process costing is the method of costing applied in‘the industries engaged in continuous or

mass production. Process costing is a method ofms{mgqsed to ascertain the cost of a product at

each process or stage of manufacturing.

According to ICMA terminology “@ss Costing is that form of operation costing which

applies where standardized goods are d”.

So it is a basic method t tain the cost at each stage of manufacturing. Separate
accounts are maintained a aclﬁr))cess to which expenditure incurred. At the end of each process
the cost per unit is detewi 'y dividing the total cost by the number of units produced at each
stage. Hence, this co ing 1s also called as “Average Costing” or “Continuous Costing”. Process

Costing is used \ dustries like manufacturing industries, chemical industries, mining works
and public Wndertakings.

Cha ct@tics of Process Costing
: %ﬂon IS continuous
%o’ducts pass through two or more distinct processes of completion.
3. Products are standardized and homogeneous.

4. Products are not distinguishable in processing stage.

5. The finished product of one process becomes the raw material of the subsequent process.




6. Cost of material, labour and overheads are collected for each process and charged accordingly.
Advantages of Process Costing

1. It is easy to compute average cot because the products are homogeneous in Process Costing.

2. It is possible to ascertain the process costs at short intervals.

3. Process Costing is simple and less expensive in relation o job costing. C)v
4. By evaluating the performance of each process effective managerial control is p .
Disadvantages of Process Costing c;@

1. Valuation of work in progress is difficult. Q

2. It is not easy to value losses, wastes, scraps etc.

3. The apportionment of total cost among joint products and by-@ogi’fﬁcult.

4. Process cost are not accurate, they are only average costs

5. Process costs are only historical. °
Principles of Process Costing

The following points are considered whil errp&gling the cost under Process Costing.

1. Production activity should be divided istédlj tprocesses or departments.
0Cesg.

2. A separate account is opened for eac
3. Both direct and indirect costs are co r\(dfor each process.
4. The quantity of output and cos corded in the respective process accounts.
5. The cost per unit is determined By dividing the total cost at the end of each process by the
number of output of e Ss.
6. Normal loss and abnormal loss are credited in the process account
7. The accumul t of each process is transferred to subsequent process along with output.
The output f@last process along with cost is transferred to the finished goods account.
8. In ca%%y-products and joint products their share in joint cost should be estimated and
re the min process.
#W/en there is work in progress at the end of the period the computation of inventory is made |

terms of complete units.

Difference between Process Costing and Job Costing




Process Costing Job Costing Job Costing

1. Production is continuous 1. Production is according to
2. Production is for stock customers’ orders

3. All units produced are identical or 2. Production is not for stock

Ny
homogeneous 3. Each job is different from the other < Z

4. There is regular transfer of cost of one | 4. There is no regular transfer of COSIQ
process to subsequent processes from one job to another C}
5. Work in progress always exists 5. Work in progress may or H"Q)

exist

%
Procedure for Process Costing \Q

1. Each process is separately identified. Separate process a pened for each process.

2. Along with ‘Particulars Column’, two columns are provided on both sides of the process account

— units (quantity) and amount (Rupees). \.q

3. All the expenses are debited in the respec iv?ve s account.
4. Wastage, sale of scrap, by-products etc &re reordered on the credit side Of the process account.

5. The difference between debit and ide shows the cost of production and output of that

particular process which is transf the next process.

6. The cost per unit in eve pr@s Is calculated by dividing the net cost by the output.

7. The output of last pregess Istransferred to the Finished Stock Account.

8. Incomplete units ngh end of the each period ion every process s converted in terms of
completed units

Specimen o ess Account

Process Account

L
Units | Rs.

Irect materials By Loss in weight (Normal

To Direct Wages Loss)
To Direct Expenses By sale of Scrap

To Indirect expenses




To Other Expenses (if any) By Next Process

Account(Transfer)

Preparation of Process Accounts

The preparation of Process Account depends upon the following situations
1. Simple Process Account

2. Process costing with normal process loss

3. Process costing with abnormal process loss

4. Process costing with abnormal process gains

5. Inter — process profits. @

1. Simple Process Account

)

Under this case it is very easy to prepare process accQut. parate account is opened for
each process. All costs are debited to the process acceumt. The total cost of the process is
transferred to the next process. At the end of each-pﬁe.so)the cost per unit is obtained by dividing

the total cost by the number of units. : Yy

llustration 4:

Product A requires three 6'®processes and after the third process the product is
transferred to finished stock. Pl@gre various process accounts from the following information.
tal |P1 P2 P3
Direct Materials ~a_ >|5000 [4000 | 600 |400
Direct Labour \Q 4000 | 1500 | 1600 | 900
Direct Exp Q@ 800 500 |300

Pro ct@overheads 6000
duction overheads to be allocated to different processes on the basis of 150% of direct

%sﬂ Production during the period was 200 units. Assume 5here is no opening or closing stock.




Process | Account

Rs.

To Direct materials

To Direct Wages

To Direct Expenses

To Production overheads
(1500x150%)

4,000 | By Process Il Account(Transfer)

1,500 | Cost per unit 8250 = 41.25

500
2,250

8,250

Process Il Account

Rs.

AL

To Process | Alc

To Direct materials

To Direct Wages

To Direct Expenses

To Production overheads
(1600x150%)

8,250

,400

B Il
60 t(Transfer)
Ao

200

13,150

Process Il Account

Rs.

T%S I Alc

L]0 materials
O)Direct Wages
To Production overheads

(900x150%)

1,3150
400
900

1,350

15,800

By Finished stock A/c

(Output Transferred )

Cost per unit 15800 = 79
200

t per unit 13150 = 65.75




2. Process losses

The process loss is classified into two- normal process loss and abnormal process loss.

1.Normal process loss
This is the loss which is unavoidable on account of inherent nature of productim‘ procgs.

It arises under normal conditions. It is usually calculated as a certain percentage o
process loss includes either waste or scrap r both. Waste is unsalable and has o Malye.

rmal
g, Loss in
weight is an example of waste. Loss in weight should be credited to the conc@ cess account.

It should be recorded only in terms of quantity.

Concerned process + closing stock)

® :
Illustration 5: @

From the following figures, show the eex)f‘cghree processes of manufacture. The

Loss in weight = Opening Stock + output from the prece@w’e?s — (output of the

production of each process is passed on t t%t rocess immediately on completion.

\\ ) Y Process A Process B | Process C

30400 12000 29250

Wages and Materials
Works Overhead Q'® 5600 5250 6000

36000 | 37500 48000
Stock on 1 July 2012 (uni )M preceding process) 4000 16500
Stock on 31 Jul 201((u its from preceding process) 1000 5500

~y

Production ion units

Solution:
Process A Account
Rs.
S and Materials 30,400 | By Process B Alc
Morks Overhead 5,600 | (Transfer)
Cost per unit 36000 = 1
36000




Process B Account
Rs. Units
To Opening Stock By loss in weight(Bal. fig) | 1500

(Re.1p.u) 4,000 | By Closing stock @ Re.1p.u 10@r
5
.’

To Process A Alc 36,000 | By Process C Alc (Transfer)‘%
(transfer) Cost per unit 56250 = 1,50

To Wages and Materials 12,000 3750 .]\
To Works Overhead 5,250

57,250 \\&

Process C Accou%

Rs. \ <9 Rs.

(Rs.1.50 p.u) Closing 8250
To Process B Alc | stock@Rs.1.5p.u
(transfer) By Finished stock A/c 108000
To Wages and (Transfer)

Materials Cost per unit108000 =2.25
To Works Overhead\ 48000

g
3
&

%‘%

To Opening Stock 24,75&9 Yin weight (Bal.fig)

1,16,250 1,16,250

2. Abnormal Process Loss
Any loss caused by unexpected or abnormal conditions such as plant break don, substandard

materials, carelessness, accident etc. or loss in exceeds of the margin anticipated for normal



mailto:stock@Rs.1.5p.u

process loss can be called as abnormal process loss. It is controllable and avoidable. When actual
loss in the process is greater than the estimated normal loss, it is a case of abnormal loss. It may

also be determined by comparing actual output with expected or normal output. If actual output is

less than the normal output, the difference is abnormal loss.
Value of Abnormal loss = Normal cost of normal output x Units of Abnormal loss < El
Normal output

Normal cost of normal output = Total expenditure (i.e., total debit of proce@;
lo

Sale Proceeds of scrap (i.e. Value of norQ

Normal output = Input — Units of normal loss

Illustration 6: .§'.’

In process A 100 units of raw materials were introduc cost of Rs.1000. the other

expenditure incurred by the process was Rs. 602. Of the\wnits Wtroduced 10% are normally

lost in the course of manufacture and them posses a s value of Rs.3 each. The output of
process A was only 75 units. Prepare Process A«* fm)d Abnormal loss Alc.

Solution:
P( ess A"Account
BN
To Raw Materials "By Normal loss-100x10% @Rs.3each
To Other expenses By Abnormal loss (Bal.Fig)

By Process B Alc (transfer)

@’ of normal output = Total expenditure — Sale Proceeds of scrap

. =1602-30
= 1572
Normal output = Input — Units of normal loss

=100-10
=90




Value of Abnormal loss = Normal cost of normal output x Units of Abnormal loss

Normal output
= 1572 x 15 = Rs. 262
90

Abnormal Loss A/c

To Process A By Cash (scrap value of loss @ Rs.3)

By Costing P&L Alc Q
>

Abnormal Gain (or Abnormal Effective) \Q

Sometimes actual loss or wastage in a process is less than expected normal loss. In this case
the difference between actual loss and expected loss i wn as abnormal gain or abnormal

effective. It is the excess of actual production ovekﬂrlu{ output. Abnormal gain is valued in the
same manner as abnormal loss. The value of a gain is debited to process A/c and credited
to abnormal gain A/c. the value of scrap i dem abnormal gain A/.c and credited to normal
loss A/c. finally abnormal loss A/c is cl by transferring the credit balance to Costing P&L A/c.
Value of Abnormal Gain = Norm f normal output x Units of Abnormal gain

Q) mal output

Normal cost of norma =*Total expenditure— Sale Proceeds of scrap

Normal output = Infut — Units of normal loss
Units of Abnorm@ = Normal loss- Actual loss

4 Or
@ = Actual output - Normal output

tration 7:
Product X is obtained after it passes through three distinct processes. 2000 kg of materials
at Rs.5 per kg were issued to the first process. Direct wages amounted to Rs.900 and production

overhead incurred was Rs.500. Normal loss is estimated at 10% of input. This wastage is sold at




Rs.3 per kg. The actual output is 1850 kg. Prepare process | A/c and Abnormal Gain/Abnormal
loss Alc as the case may be.
Solution:

Process | Account

Rs.

To Materials 10000 | By Normal loss (Sale of scrap )
To Direct wages 900 | By Process Il - transfer

To Production OH 500
To Abnormal 300
gain(Bal.) 11700

Abnormal Gain A/c
Units Rs.

To Normal loss (loss of income) 50 150 | B cess | Alc
To Costing P&L Alc (Bal.) 9

5;: |
Working note: 'Q\\
1. (200+1850)-2000=50 Q

2. (10000+900+500)-600 z Rs §_)

1850-50

1850x6=11100 \

3. 50x6=30 )&

OPERAT@STING (SERVICE COSTING)

@e costing procedure used for determining the cost of per unit of service rendered. It

IS a d of costing applied to undertaking which provides service rather than production of
%ﬂ.odities. The services may be in the form of transport, supply service, welfare service,etc.

There is a difference between operating costing and operation costing. Operating costing is a

method of costing designed to find out the cost of operating or rendering a service. On the other

hand, operation costing is a method of costing applied to determine the total cost and unit cost of




each operation. Though service undertakings are of different types, but here we discuss only
transport operating costing.

Transport costing:

number of passengers, tonnage carried, distance covered etc. Q
!

Classification of Costs: \Q
Operating costs of a transport undertaking comprisi i&nt items, which are classified
under the following three groups.

1. Standing or fixed charges: \.o’

ters run. Itis fixed in nature. Eg. Insurance,

These charges are incurred in spite of the?&gn
Motor vehicle tax, license fee, rent, sala@ ating manager etc.

2. Maintenance charges:

It includes semi variable e Eg. Tyres and tubes, repairs and paintings etc.
3. Operating and runnin chﬁgj :

These charges v ‘or less in direct proportion to kilometers. All the variable charges
of running vehicles éKinc ded in this group. Generally it includes, petrol, oil,, grease etc., wages
of driver, atten ifpayment is related to time or distance of trip etc. In the place of the above
classificatio xpenses can be divided into two — fixed cost and variable costs. Here, both
main na@ charges and running charges are considered as

ari arges
tion of Unit:

In transport costing, a composite unit such as passenger mile or passenger kilometer or tone
kilometer is often selected. Such unit takes into account both the number of passengers or weight

of goods carried and distance run.




Absolute passenger or commercial passenger/ tone km:

It is calculated by multiplying every part of distance travelled/covered with either weight
carried or passenger carried.. After getting the product of each journey we add all the products.
The total is absolute ton/quintal km
In the case of goods transport the equation is
Distance of each part of journey x weight carried
In the case of passenger transport, the following formula is used C}Q
Distance of each part of journey x No. of passengers taken for the same dis%

Commercial method:
The following steps are used to find out the commercial tone km .§'.’

a. Find out average trip load \Q

b. Find out total distance of journey °

c. Multiply a and b, the resultant figure is commer one km

Q and rest of the goods at station R. It re directly to station P after getting reloaded with

Example 8 0
A truck starts with a load of 10 ton:&:ﬁ@rom station P. It unloads 4 tonnes at station
esb

8 tonnes of goods at station R. The dj e between P to Q, Q to R and then from R to P are
40kms, 60 kms, and 80 kms respe . Compute absolute tone kms and commercial tone-km .
Absolute ton/ km = Tota(d}s nce X weight carried
+ (60x6) + (80x8) =400+360+640= 1400
Commercial fQ{/k = Distance x average load

\\‘Q = [40+60+80] x{10+6+8/3}= 180x8=1440
Pre ron of Operating Cost sheet:
®An operating cost sheet is prepared periodically in order to ascertain the cost per unit. Here,
the total fixed, maintenance and running costs are collected and allocated under respective heads

and these are then divided by total units.

The Performa of a operating cost sheet is given below:




OPERATING COST SHEET

Particulars Total cost Cost per unit

A. Fixed or standing charges:

Garage rent

License fee

Insurance

Motor vehicle tax C/

Interest on capital Q

Supervision

Office establishment

Administrative overheads

Salary of foreman , manager etc
Total

B. Maintenance charges:

Repairs and renewals

Tyres and tubes

Paintings
Overhauling
Cleaning

Gas and electric char

Spare parts and acfessor
@al

C. Operax ges:
Petrol @

En i
A
ricating oil, grease etc
Wages of operators
Depreciation

Salaries of running staff




Water
Total

Calculation of Depreciation:
If the rate of depreciation is not given, depreciation is calculated as follows:
Depreciation =Cost- scrap

Life in years

Depreciation per mile, or km = Depreciation p.a

Kms/miles run p.a

Example 9

[ ]
From the following data calculate the cost per mile of a vehicle: @

)

Value of vehicle Rs. 15,000
Road license for the year 500 o

Insurance charges per year 100

Garage rent per year 00. o
Drivers’ wages per month WO

0.80

Cost of petrol per litre ( )
Miles per litre \ 8
Proportional charge for tyre and r@ce per mile 0.20

Estimated life 1,50, 000 miles

Ignore interest on capi ¢

[ ]
\ Operating cost statement
)\&9 perating

[}

Particulars': Oi Annual cost | Cost per unit

Solution:




Fixed expenses:

Road license fee

Insurance charge

Garage rent

Maintenance charges:

Cost of tyre and maintenance of per mile
Operating /running charges:

Cost of petrol per mile 80p/8

Drivers wage per mile 2400/6000
Depreciation of vehicle 15000X6000/1,50,000

{
[}

N
>
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